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[4764] - 1001

M.Com. (Part - I) (Semester - I)
MANAGEMENT ACCOUNTING

(2013 Pattern) (Credit System)

Time : 3 Hours]
Instructions to candidates:
1) All questions are compulsory.
2)  Figures to the right indicate full marks.

[Max. Marks : 50

Q1) Define Management Accounting. Distinguish between Cost Accounting and
Management Accounting. [14]

OR

From the following Balance Sheet of X Ltd. as on 31 March 2013 and
31 March 2014, you are required to prepare a Funds Flow Statement.

Liabilities 31/3/2013|31/3/2014 | Assets 31/3/2013 |31/3/2014
Share capital 4,00,000| 5,00,000 | Land & 4,00,000 | 4,80,000
Building
General Reserve 80,000 | 1,40,000 | Machinery| 3,60,000 | 2,60,000
P&L Alc 64,000 78,000 | Stock 2,00,000 | 2,52,000
Bank Loan 3,20,000 80,000 | Debtors 1,60,000 | 1,28,000
Creditors 3,00,000| 2,60,000 | Cash at 1,04,000| 18,000
Bank

Provision for Tax 60,000 80,000

12,24,000 | 11,38,000 12,24,000 {11,38,000
Additional Information:

a) During the year ended 31 March 2014 dividend of Rs. 74,000 was paid.

b) Assets of another company were purchased for a consideration of Rs.
1,00,000 payable by issue by shares. These assets include Land &
Building Rs. 50,000 and stock of Rs. 50,000.

c) Depreciation written off on Machinery Rs. 24,000 and Land & Building
Rs. 45,000.

PT.O



d)
e)

Income Tax paid during the year was Rs. 70,000.
Additions to Building were for Rs. 75,000.

Necessary working notes are part of your answer.

02) ABC Ltd. Pune has furnished you the following information for the comming
financial year during which the estimated production will be 10,000 units per
week:

a)

g)

h)

Direct Material Rs. 40  perunit
Direct Labour Rs. 24 perunit

Direct Expenses  Rs. 16 per unit

Rs. 80  perunit
Net profit Rs. 40  perunit

Selling Price Rs. 120 per unit

60% of the Direct Expenses consists of Fixed Overheads. The remaining
expenses are paid two weeks in arrears.

The stock of Raw Material must be equal to the 3 weeks requirement
and finished goods must be equal to half of the Sales of the next month.

The work - in - progress will remain in stock for 2 weeks for which
labour cost and expenses should be considered at 40 % and 60%
completion stage respectively.

10% of the purchases are made on cash basis and the remaining with
one month credit.

20% of sales are made on advance payment of one month, while remaining
are made with 45 days credit period.

70% of wages are payable to the skilled workmen on monthly basis
while wages are paid to unskilled workmen on weekly basis.

Add 10% of your computation for contingencies.

You are required to prepare a statement showing estimated amount of

working capital. A month consists of 4 weeks [14]

OR

Explain the term Working Capital. State the various factors in detail that
determine the working capital requirement.
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03) a) The following ratios are in respect of a company for the year 2013-14.
Draw up Balance sheet with as many details as possible.

i)  Debtors Turnover Ratio

i)  Creditors Turnover Ratio

iii) Capital Turnover Ratio

iv) Stock Turnover Ratio

4 Times
& Times
2 Times

& Times

(Cost of goods Sold/Average stock)

v) Fixed Assets Turnover Ratio

vi) Gross Profit Ratio

vii) Gross Profit for the year

viii) Reserves & Surplus

& Times

25%

Rs. 1,00,000
Rs. 35,000

ix) Closing stock is more by Rs. 20,000 than the Opening Stock.

x)  There are no long term Liabilities.

OR

b) What are the uses of Comparative Statements.

[7]

c) What are Accounting Ratios? Discuss the role of Accounting Ratios.

[7]

OR
d) From the following Profit & Loss A/c prepare a common size income
statement.
P& LA/
2013 2014 2013 2014
To Cost of 1,20,000 |1,50,000 | By Net 1,60,000 |{2,00,000
goods sold Sales
To Administrative
Expenses 4,000 4,000
To Selling Expenses| 6,000 8,000
To N.P. 30,000 38,000
1,60,000 |2,00,000 1,60,000 {2,00,000
[4764] - 1001 3



04) Write Short Notes on (Any Two):

a)
b)
c)
d)

Techniques of Financial Statement Analysis.

Responsibility Centres.
Debt - Equity Ratio.

Limitations of Trend Analysis.

E
sk
%
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P3508 [Total No. of Pages: 4
[4764] - 1002
M.Com. (Semester - I)
STRATEGIC MANAGEMENT

(2013 Pattern) (Compulsory) (Credit System)
Time : 3 Hours] [Max. Marks : 50
Instructions to the candidates :
1) All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) What is ‘Strategic Management’? Explain the process and approaches to
Strategic Management. [14]

OR
Explain in detail the Michael Porter’s Model of Industry Analysis.

02) Explain the External Growth Strategies adopted in business enterprises. [14]

OR
How Financial Planning & Manpower planning are used in Strategy
Implementation.
03) a) State the advantages of strategic planning. [7]
OR

b) Explain the need and formulation of Research & Development Strategy.

c) Describe the need and formulation of Production Strategy. [7]
OR

d) Write a detail note on Benchmarking.

PT.O



04) Write Short Notes on (Any Two):

a)
b)
c)
d)

Evaluating the Strategic Performance.
Social Responsibility.
Strategic Alternatives.

Marketing Strategy.

[4764] - 1002 2
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M.Com. (Semester - I)
STRATEGIC MANAGEMENT
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[4764] - 1003

M.Com. (Semester - I)
ADVANCED ACCOUNTING & TAXATION
Advanced Accounting (Special Paper - I)
(2013 Pattern) (Group - A) (Credit System)

Time : 3 Hours] [Max. Marks : 50
Instructions to the candidates:

1) All questions are compulsory.

2)  Give working note whenever necessary.

3)  Use of simple pocket calculator is allowed.

Q1) What do you mean by accounting theory? Explain approches to accounting
theory. [10]
OR
Write short notes - (Any Two)
a) Accounting standards
b) Role of Accounting theory
c) Accounting environment
d) Generally accepted accounting principles.

02) The balance sheet of XYZ manufacturing Ltd. discloses the following position

as on 31 March 2015. [12]
Balance sheet as on 315 March 2015

Liabilities Rs. | Assets Rs.

Share capital Good will at cost 30,000

30,000 shares of Rs.10 Land and building 1,75,000

each fully paid 3,00,000 | plant and machinary 90,000

Capital reserve 60,000 | Stock 1,15,000

Sundry creditors 71,000 | sundry debtors 98,000

Provision for taxation 55,000 | less-provision for doubtful

Profit and loss A/C 26,000 | debts 3,000 95,000

cash at bank 7000

5,12,000 5,12,000

Additional information

i)  Rate of income tax may be taken at 50%.

ii) The average rate of dividend declared by the company for the past five
years was 15%.

iii) The reasonable return on capital invested in the similar business done by
the company 1s 12%.

PTO.



03)

[4764] - 1003

You are asked to value the goodwill of xyz manufacturing L.td. on the basis of
three years of purchase.
OR
The balance sheet of sumit co.ltd discloses the following financial position as
on 31% March 2015.
Balance sheet as on 315 March 2015.

Liabilities Rs Assets Rs.
Share capital Fixed Assets 2,50,000
20,000 shares of Rs.10 Current Assets 1,00,000
each fully paid 2,00,000 Goodwill 20,000
Capital reserve 45,000
Profit and loss A/c 10,000
5% Debentures 50,000
Current liabilities 65,000

3,70,000 3,70,000

On 31**March 2015 the fixed assets was independently valued at Rs. 2,75,000
and goodwill at Rs.25,000. The net profit for the last three years were Rs.25,800,
Rs.25,825 and Rs. 26,000 of which 20% was placed to reserve, this proportion
being considered reasonable in the industry in which the company is engaged
and where a fair investment return may be taken at 10%.

Compute the company's value of shares by -
i)  Net assets method
i)  Yield method
i)  Fair value method

The following is summarised balance sheets of X. Ltd Y. Ltd and Z. Itd as on
315 March 2015 - [14]
Liabilities x.Itd yltd| zltd | Assets x.Itd yltd | zltd
Rs. Rs. Rs. Rs. Rs. Rs.
Share capital 125000 | 100000| 60000 | Fixed assets 28,000 | 55,000 {37,500
Reserves 18,000 | 10,000| 7,200 | investment at cost
sharesiny Itd 85,000 - -
Profit and loss zltd 18,000 | 53,000 -
Acc 16,000 | 2,000| 5,100 | Stock in trade 12,000 - -
z. Itd. balance 3,300 - - | ytd balaﬁce 8,000 - -
sundry creditors| 7,000 5,000 - | xltd balance - - | 3,300
x Itd balance -1 7,000 - | sundry debtors 18,300 | 16,000 |31,500
1,69,300 |1,24,000 | 72,300 1,69,300 [1,24,000 |72,300




Further information
i)  The share capital of all companies is divided into shares of Rs.100 each.
i) X Itd. held 750 shares of Y Itd and 150 shares in Z Itd.
ii) Y Itd held 400 shares of Z Itd
iv)  All investments were made on 30" September 2014.
v)  The following balances were there on 1% April 2014.
Y Ltd Z 1
Reserves 9,000 6,000
Profit and loss A/c(cr) 1,000 840

vi) Dividends have not been declared by any company during the year, nor
any proposed.

vii) Y.ltd. sold goods costing Rs.4,000 to X.Itd. at the price at Rs.4,400.
These goods were still unsold on 31 March 2015.

Prepare a consolidated balance sheet as on 31 March 2015.

OR

The following are the details regarding vaishali Ltd. Which went into voluntary
liquidation as on 1% April 2015.

Liabilities Rs.
20,000 Equity shares of Rs. 10 each, Rs. 5 paid up 1,00,000
14 % preference share capital - 20,000 shares

of Rs. 10 each fully paid 2,00,000

14% first mortagage debetures secured by a
floating charge upon the whole assets of the company

exclusive of the uncalled capital 1,50,000
Fully secured creditors (value of securities Rs.35,000) 30,000
Partly secured creditors (value of securities Rs.10,000) 20,000
Preferential creditors for rates, taxes and wages etc, 6,000
Bills payable 1,00,000
Unsecured creditors 70,000
Bank overdrafts 10,000
Bills receivables in hand 15,000
Bills discounted lone bill for Rs. 10,000 known to be bad 40,000

[4764] - 1003



04)

Book debts - Good 10,000

- Doubtful 7,000
-  Bad 6,000
Land and buildings (estimated to produce Rs. 1,00,000) 1,50,000
Stock in trade (estimated to produce Rs.40,000) 50,000
Machinery, tools etc (estimated to produce Rs. 2,000 5,000
Cash in hand 100

You are required to prepare a statement of affairs of Vaishali Itd.

The following was the trial balance on 31 March 2015 of Delhi branch of

British firm having head office in london : [14]
Dr Cr

Particulars Rs. Rs.
Stock on 1.4.2014 12,600 S
Purchases and sales 75,000 1,12,500
Debtors and creditors 39,000 26,000
Bills Receivable and bills payable 10,400 9,100
Salaries and wages 4,800 S
Rent, rates and taxes 5,100 S
Furniture 4,910 —
Cash at bank 28,990 S
London account — 33,200
1,80,800 1,80,800

on 31% March 2015 the stock was valued at Rs. 32,500.

The debit balance of the branch account in London books on 31% March
2015 was ¥ 2680 and furniture account appeared at Rs. 3501 on 315 March
2015. there was cash in transit from Delhi to London amounting to Rs. 2,600.
The rate of exchange on 31 March 2014 was Rs.14, and on 315 March 2015
was Rs. 13. Average rate of the year was Rs. 12.

Prepare the branch trading and profit and loss Account and balance
sheet in the head office book.

OR

What do you mean by leasing? Explain its advantages in detail.

SISIS
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Total No. of Questions : 4] SEAT No. :
P3510

[Total No. of Pages : 2
[4764] - 1004
M.Com. (Part-1I) (Semester - I)
COMMERCIAL LAWS & PRACTICES
Information System and E - Commerce Practices
(2013 Pattern) (Credit System) (Group - E) (Special Paper - I)
Time : 3 Hours] [Max. Marks : 50
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q1) Explain the elements and types of Information System. [14]
OR
Explain the various categories of E-Commerce.

02) Explain the role and benefits of Inter Organisational System. [14]
OR
Explain the sales procedure with reference to E-Commerce.

03) a) Explain the General Model of Information System. [7]
b) Define Extranet. Explain the application of Extranet. [7]
OR

c) Explain the concept of Executive Support System.
d) Explain the electronic payment systems.

Q4) Write short notes on (Any two): [8]
a) Information Systems.
b) E-Commerce.

c) Internet.
d) E-Certificate.

SISIS
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Total No. of Questions : 4] SEAT No. :
P3511

[Total No. of Pages : 3
[4764] - 1005

M.Com. (Part-1I) (Semester - I)
ADVANCED COST ACCOUNTING & COST SYSTEMS
Advanced Cost Accounting
(2013 Pattern) (Credit System) (Paper - I)

Time : 3 Hours] [Max. Marks : 50
Instructions to the candidates:

1) Attempt all questions.

2) Figures to the right indicate full marks.

3)  Use of calculator is allowed.

Q1) A firm of building contractors began to trade on 01/01/2014. The following
was the expenditure on a contract for Rs. 6,00,000

Materials issued from stores Rs. 1,00,000
Materials purchased for the contract Rs.90,000
Plant installed at cost Rs.70,000

Wages paid Rs.2,00,000

Wages accrued on 31/12/2014 Rs.80,000
Direct expenses paid Rs.20,000

Direct expenses due on 31/12/2014 Rs.5,000
Establishment expenses Rs.13,000

Of the plant and machinery charged to the contract, plant which cost
Rs.4,000/- and materials costing Rs.3,000 were lost certain materials costing
Rs.4,000/- were sold for Rs.5,000.

On 31-12-2014 plant which cost Rs.1,000/- was returned to the stores and a
plant (part of it) which cost Rs.4,000 was damaged as to render itself useless.

The work certified was Rs.4,80,000 and 80% of the same was received
in cash.

The cost of the work done but uncertified was Rs.2,000/-, charge 10%
depreciation on plant p.a.
Prepare the Contract Account for the year ended 31/12/2014. [11]

PTO.
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OR

Moon Transport Co., Pune, supplies you the following information in respect
of a truck of 5 tonne capacity.

Particulars (Rs.)
Cost of Truck 90,000
Estimated life 10 years.

Disel, Oil etc per trip per day 15
Monthly repairs & maintenance 500
Drivers wages per month 500
Cleaners wages per month 250
Yearly insurance 4,800
Annual Tax 2,400
General supervision charges p.a. 4,800

The truck carries goods to and from city covering a distance to the extent of
50 km. each way. On outward trip freight is available to the extent of full
capacity and on return trip 20% of capacity. Assuming that the truck runs on
an overage 25 days in a month.

Calculate :
1)  Operating cost per ton km and

i)  The rate per ton trip that the company should charge if a profit of 50%
on freight is to be earned.

From the following particulars calculate the earnings of a worker under
a) Straight piece rate

b) Differential piece rate

c) Halsey premium scheme (50% sharing)

d) Rowan premium scheme

Weekly working hours 48

Hourly wage rate Rs.7.50
Piece rate per unit Rs.3.00
Normal time taken per piece 24 minites
Normal output per weak 120 pieces

Actual output for the week 150 pieces
Differential piece rate -
80% of piece rate when output is below normal.

120% of piece rate when output above normal.
[14]



OR
X Y Z & Co. has three Production Departments and two Service
Departments. Following information is available from departmental
distribution summary for the month of January 2014.

Production Department Rs. Rs.
A 2,400
B 2,100
C 1,500
—> 6,000
Service Departments
X 702
Y 900
— 1,602
The expenses of service departments are charged on a percentage basis
as follows.
[tem Production Departments Service Departments
A B C X Y
X 20% 40% 30% — 10%
Y 40% 20% 20% 20% —
Show the distribution of Service Department cost under Repeated
Distribution Method.

03) Define 'Under - absorption' and 'Over - absorption' of overheads. Explain the
reasons for under or over - absorption of overheads. [15]

OR

Define labour? Explain briefly the methods and principles of remuneration.

04) Write short notes (Any Two): [10]
a) Batch Costing.
b) JustIn Time.
c) MeritRating.
d) Selling and Distribution Overheads.

SISIS
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Total No. of Questions : 4] SEAT No. :
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[4764] - 1006

M.Com. (Part-1I) (Semester - I)
CO-OPERATION AND RURAL DEVELOPMENT
Co-Operative Movement in India
(2013 Pattern) (Credit System) (Special Paper - I)

Time : 3 Hours] [Max. Marks : 50
Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) Explain in detail the problems faced by credit co-operatives after globalisation
in India. Suggest the measures to improve the performance of credit co-
operatives. [14]

OR

Describe the phases of evolution of co-operative movement in India with their
broad features.

02) Give a brief review of major amendments in Maharashtra state Co-operative
Societies Act, 1960. [14]

OR

Explain the provisions of Maharashtra State Co-operative Societies Act, 1960
regarding Management and liquidation of credit Co-operatives.

03) a) Give an outline of organisational setup of Co-operative departments in
Maharashtra. [7]

b) Explain the rights of District Registrar of Co-operatives. [7]
OR

a) Explain the role of NABARD in financial support to co-operative Sugar
Factories in Maharashtra since 1991.

b) Explain the main recommendations of Vaidyanathan Committee.

PTO.



04) Write shorts notes on (Any Two) : [8]
a) Findings of Narshimham Committee.
b) Drawbacks of organisational setup of Co-operatives in Maharashtra.
c) Members and their rights in credit co-operatives.

d) Indian Planning and Co-operative Movement.

SISIS
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M.Com. (Part - 1) (Semester - I)
CO-OPERATION AND RURALDEVELOPMENT
Co-Operative Movement in India

(2013 Pattern) (Credit System) (Special Paper - I)
(ATt TUTAR)

9% ; 3 | [wegot 701 : 50

AT
1)
2)

TS g9 AEE AT,
SATRE 37k YUT I[UT g9iferaTa.

97 1) WATNTATAIERIUMHER HRATHE gl Ud HEAT HSHTEu=al auedl aiaeat

TR AL [14]
TERR U —FEATAT HARHES GUROM FHOGTETE! U1 g,
e

HERTSE ST FEhT AT HAgT 1960 Aefter TH@ GURUTAT ATSFITd AT

=1 [14]
e

WERTZ TST Agh™t AT H1ael 1960 Aeie Oghil deqia ST o

) UERTTAA TghR WTeATedl Heed dlehe el U ST, [7]
) wge @ Riegr fevemmr aifterr e =, [7]
e

) 1991 YA WERTTEA TEgh™ ATER wR@HE Aremgen fafm=
YTt SfHehT TUSE T

)  Seudted aftde gea it e w0



¥y7 4) ofgemma feur fogn. (wvreatd g) [8]
1) Wiagw wiud= e
q) WERTETAIS VRNl HEATTAT Toed e g
F) TEHN TEATT AWTHG AT el TR
g) wrdE e enfor veedt wwas

SISIS

[4764] - 1006 1



Total No. of Questions : 4] SEAT No. :
P3513

[Total No. of Pages : 2
[4764] - 1007

M.Com. (Semester - I)
BUSINESS PRACTICESAND ENVIRONMENT
Organized Trades and Markets
(2013 Pattern) (Group - C) (Special Paper - 1)

Time : 3 Hours] [Max. Marks : 50
Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) Define the term 'Business'. What are the objectives of business? [14]
OR
Write a detailed note on importance and development of service sector in India.

02) Explain the product buying and credit policy followed by business.  [14]
OR
Enumerate various services made available by the service sector in India.

03) a) Write a note on arguments for foreign direct investment. [7]
OR
What is the role of state trading corporation?
b)  Write a note on innovative marketing practices. [7]
OR

Highlight the features of co - operative marketing.

04) Write short notes (Any two): [8]
a) Super market.
b) Selfhelp group.
c) Mall administration.
d) Rural development policy.

SISIS
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BUSINESS PRACTICES AND ENVIRONMENT
Organized Trades and Markets
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Total No. of Questions : 4] SEAT No. :
P3514

[Total No. of Pages : 2
[4764] - 1008

M.Com. (Part-1I) (Semester - I)
BUSINESS ADMINISTRATION
Production and Operation Management (Group - D)
(2013 Pattern) (Credit System)

Time : 3 Hours] [Max. Marks : 50
Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) What is plant lay out? Discribe the principles and advantages of good plant
lay out. [14]
OR
Explain the concept of product development. Discuss the factors and steps
of new product development.

02) Discribe the basic steps of production planning and control. [14]
OR
Write a detailed note on - Effects of liberalisation and globalisation on operation
management.
03) a) Write note on mass production system. [7]
OR
b) State the concept and features of good product design. [7]
c) Explain the need and procedure of production planning.
OR

d) Define quality circles and state the objectives of quality circles.

0Q4) Write short notes on: (Any two) [8]
a) Functions of operation management
b) Batch production system
c) Quality improvement
d) Problems of rationalisation

SISIS
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M.Com. (Part - 1) (Semester - I)
BUSINESS ADMINISTRATION
Production and Operation Management (Group - D)
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Total No. of Questions : 4] SEAT No. :
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[Total No. of Pages : 4
[4764] - 1009

M.Com.
ADVANCED BANKING AND FINANCE
Legal Framework of Banking (Special Paper - I) (Group - G)
(2013 Pattern) (Credit System)

Time : 3 Hours] [Max. Marks : 50
Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) How does the Reserve Bank of India exercise control over the management
of a banking company? Explain your answer with reference to the provisions
of the Banking Regulation Act, 1949. [14]
OR
Explain in detail the application of the Banking Regulation Act, 1949 to
cooperative banks.

02) Name the negotiable instruments defined under the Negotiable Instruments Act,
1881? Mention any three similarities and two differences between them? [14]
OR
Spell out and explain in detail the prerequisites of
a) Holder.
b) Holder in due course.
c) Payment in due course.

03) a) Explain in detail the provisions of the RBI Act, 1934 pertaining to Cash

Reserves of Scheduled Banks to be kept with the RBI. [7]
OR
What does a current account transaction mean as per the Foreign
Exchange Management Act, 19997 What provision does the act lay down
relating to the same?
b) Explain in detail the definitions, as spelt out in the Securitisation Act,

2002, of [7]
a) Asset Reconstruction
b) Financial Asset
c) Securitisation

PTO.



OR

Define a capital account transaction as under the Foreign Exchange
Management Act, 1999. Spell out and explain the provision given in the
act pertaining to the same.

04) Write Notes on (Any Two) [8]

a)

b)

c)
d)

[4764] - 1009

Provisions of the RBI Act, 1934 relating to Collection and furnishing of
credit information

Measures provided by the asset securitization company for asset
reconstruction

Authorised Person as defined under FEMA, 1999.

Powers of the RBI as under the Securitization Act, 2002

SISIS



Total No. of Questions : 4]

P3515

[4764] - 1009
M.Com.
ADVANCED BANKINGAND FINANCE

Legal Framework of Banking (Special Paper - I) (Group - G)

(2013 Pattern) (Credit System)
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Total No. of Questions : 4] SEAT No. :
P3516

[Total No. of Pages : 2
[4764] - 1010

M.Com. (Part-1I) (Semester - I)
ADVANCED MARKETING (Special Paper - 1)
Marketing Techniques (Group - H)

(2013 Pattern) (Credit System)

Time : 3 Hours] [Max. Marks : 50
Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) Whatis 'Sales Promotion'? Explain the various methods of sales promotion.[14]

OR
Enumerate role and functions of sales manager.

02) Define 'Marketing'. Explain the components and functions of marketing. [14]

OR
What do you mean by marketing research. Explain the types of marketing
research.
03) a) Explain the role of advertising media. [7]
b) State objectives and importance of sales budgeting. [7]
OR

a) Explain the factors affecting on selection of channel of distribution.
b) State the problems of Rural marketing.

04) Write short notes on: (Any two) [8]
a) Service marketing
b) Types of marketing audit
c) Shopping mall
d) Test market of new product

SISIS
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Total No. of Questions : 4]

P3516

[4764] - 1010

M.Com. (Part - 1) (Semester - I)
ADVANCED MARKETING (Special Paper - 1)
Marketing Techniques (Group - H)

(2013 Pattern) (Credit System)
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Total No. of Questions : 4] SEAT No. :

P3517 [Total No. of Pages : 4

[4764] - 1011
M. Com. (Semester - I)
ADVANCED ACCOUNTING AND TAXATION
104 : Income Tax (Group - A)
(2013 Pattern) (Credit System) (Special Paper - II)

Time : 3 Hours] [Max. Marks : 50
Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

3) Read all the questions very carefully before attempting the same.

4) Use of calculator is allowed.

Q1) Mr. S was employed in X Ltd. in Nagpur. He retired on 1-1-2015 after completing
a service of 26 years and 5 months. He had received the following : [14]
a) Salary Rs. 25,000 per month.

b) Dearness allowance of Rs. 2,000 per month (forming part of retirement
benefits) for the last four years.

c) Bonus Rs. 25,000 per annum.

d) His pension was determined Rs. 9,000 per month and 3/4" portion of it
was commuted for Rs. 3,00,000.

e) He received a gratuity of Rs. 4,00,000 and as per entitlement of 30 days
earned leave for each year of service.

f)  He also received Rs. 3,00,000 for encashment of earned leave of 12
months during the previous year.

g) He paid professional tax Rs. 1,800.
Compute Mr. S’s taxable income and tax liability for he Assessment Year
2015-16, (assuming he is not covered under Payment of Gratuity Act).

OR
Mr. B is the owner of three house properties in Mumbai, particulars in respect
of which for the year ended 31-3-2015 are as below : [14]
Particulars House [ House II House III
Construction started on 1-4-1993 1-8-1993 1-7-1988
Construction completed on 31-12-1994 | 31-1-1994 | 31-12-1989
Actual rent received Rs. 35,000 | Rs. 30,000 | Self occupied
Standard rent Rs. 45,000 | Rs. 40,000 | N.A.
Municipal value Rs. 60,000 | Rs. 19,000 | Rs. 27,800
Municipal taxes (paid by owner) | Rs. 6,000 | Rs. 1,900 | Rs. 12,000

PTO.



Cost of repairs (borne by tenant) | Rs. 1,000 | Rs. 7,000 | -
Collection charges Rs. 1,500 | Rs. 1,300 | -
Insurance premium Rs. 1,000 | Rs. 1,200 Rs. 2,600
Interest on loan taken for Rs. 2,400 | Rs. 3,000 | Rs. 6,000
renovation of house

Unrelised rent allowed in the Rs. 1,000 | - -

past, recovered during the year

Mr. B resided in Pune for three months during the previous year in connection
with his business and for all these months the house remained vacant. During
the period of his stay in Mumbai he did not occupy any other house of his
own. Compute Mr. B’s Income from house property for the A.Y. 2015-16.

02) Mr. Z is the owner of a small manufacturing unit. He gives you the following
details drawn from his books of account for the year 2014-15: [14]

Computed Net profit Rs. 57,500 after charging the following items :

a)

)

Provisions and reserve debited to profit and loss Account :

i)  Provision for doubtful debts Rs. 25,000
i)  Depreciation reserve Rs. 30,000
Household expenses Rs. 46,000

Donation to Prime Minister National Relief Fund Rs. 10,000; other
charitable donations Rs. 20,000.

Account payee cheques issued for purchases Rs. 60,000.

Audit fee charged Rs. 20,000, including expenses on income tax
assessment Rs. 15,000.

Incomes credited to Profit & Loss Account were:

i)  Bank interest on F.D. Rs. 5,000.

i)  Interest on UTI units Rs. 2,000.

i) Interest on Post-office saving bank account Rs. 3000.

Opening stock is valued at cost plus 10% basis. Whereas closing stock
was valued at cost minus 10% basis. Opening stock valued was Rs.
66,000; Closing stock valued was Rs. 72,000

Compute the Net Business Income Mr. Z for A.Y. 2015-16.

[4764] - 1011 2



OR

Following is the profit & Loss Account of A&B a partnership firm having
partners A & B for the year ended as on 31-3-2015.

Profit and loss Account

Particulars Amount | Particulars Amount

(Rs.) (Rs.)

Cost of goods sold 18,00,000 | Sales 26,55,000
Office salaries 75,000 | Interest on investments 11,000
Interest on loan from Mr. Z 36,000 | Long term capital gains 25,000
Interest on term loan for 56,000 | Short term capital gains 30,000

purchase of machinery

Office rent 46,000 | Winning of Lotteries (gross) 15,000
Commission to working partner A 45,000
Interest on loan to partner B 36,000

who is a non working partner @ 12% p.a.

Salary to a working partner A 2,40,000
Salary to non working partner B 36,000
Interest on capital of A @ 12 @ p.a. 36,000
Interest on capital of B @ 12% p.a. 13,500
Provision bad debts 15,000
Entertainment expenditure 19,000
Income tax paid 15,000
Donation to PM’s Relief Fund 60,000
Net Profit 2,07,500
Total 27,36,000 | Total 27,36,000

Compute the taxable business income of the A & B partnership firm for the
A.Y.2015-16

[4764] - 1011 3



03) a) A & B formed a partnership firm during the financial year 2014-15. Soon
after its formation. A brings the following assets as his capital contribution.

[7]

Particulars Gold (Rs.) |Silver (Rs.)
Fair market value on the date on transfer 5,40,000 12,00,000
Amount recorded in books 8,00,000 13,00,000
Actual cost 1,00,000 2,50,000
Year of acquisition 1985-86 1991-92

CII for 1985-86 133 CII for 1991-92 199 CII for 2014-15 1024
Compute the taxable capital gain of A for A.Y. 2015-16 assuming he has invested
Rs. 2,40,000 in the specified securities of NHAI within six, months for 3
years.

OR
Mr. Z submits the following particulars of his income and loss for the assessment
year 2015-16:

i)  Income from house property (computed) Rs. 70,000
ii) Income from interest from a firm Rs. 15,000
iii) Profit from cloth business (before depreciation) Rs. 4,00,000
iv) Income from speculation business Rs. 32,000
v)  Longterm capital gain Rs. 91,000
vi) Dividend from UTI (Units are held as stock in trade) (gross)Rs. 20,000
vii) Current year’s depreciation Rs. 20,000

The following items have been brought forward from the preceding year:

1) Loss from cloth business Rs. 1,00,000

2)  Unabsorbed depreciation Rs. 75,000;

3) Loss from speculation Rs. 70,000;

4)  Short term capital loss Rs. 42,000;

5) Long term capital loss Rs. 1,14,000

Compute his Gross total income for the A. Y. 2015-16.

b) Explain the provisions of determination of residential status for an Hindu
Undivided Family and its impact on tax liability. [7]

OR

State the difference between Capital Income & Revenue Income.

04) Write short notes on any two : [8]
a) Interest on borrowed capital of house property.
b) Person.

c) Agriculture income.
d) Income from other sources.

OO NN
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Total No. of Questions : 4] SEAT No. -

P3518 [Total No. of Pages : 4
[4764]-1012
M.Com. (Semester - I)
COMMERCIAL LAWS & PRACTICES
Intellectual Property Laws
(2013 Pattern) (Special Paper - II) (Group - E)

Time : 3 Hours] [Max. Marks : 50
Instructions to the candidates:

1)  All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Define the term Intellectual Property Rights & explain in detail types of

Intellectual property rights. [14]
OR
Explain the meaning of Infringement of patents & Discuss in detail reliefs for
Infringement.
02) Discuss the meaning definition, concepts & types of trade mark. [14]

OR

Discuss the provisions of Appellate Board for trade mark in detail.

03) a) Registration of trade mark. [7]
b) Provisions relating to collective & certification of trade marks. [7]
OR
a) Types of patents.

b) Regulation of access to Biodiversity.

PTO.



04) Write short notes on (Any Two) :

a)
b)
c)
d)

Commercial & Cultural dimensions of IPR.

Patentable & Non-Patentable Inventions.

Assignments & Transmission of Trade Marks.

State Biodiversity Board.

OO0
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Total No. of Questions : 4]

P3518
[4764]-1012
M.Com. (Semester - I)
COMMERCIAL LAWS & PRACTICES
Intellectual Property Laws
(2013 Pattern) (Special Paper - II) (Group - E)
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Total No. of Questions : 3]

P3519

SEAT No. :

[Total No. of Pages : 3

[4764] - 1013
M. Com (Semester - I)
ADVANCED COST ACCOUNTING AND COST SYSTEMS

108 : Costing Techniques and Responsibility Accounting
(2013 Pattern) (Credit System) (Paper - II)

Time : 3 Hours]

Instructions to the candidates:
1) All questions are compulsory.
2) Figures to the right indicate full marks.
3)  Use of calculator is allowed.

[Max. Marks : 50

Q1) What is Responsibility Accounting? What are Principles of Responsibility

Accounting? Explain in detail Centers of Control. [15]
OR
What is interfirm Comparison? What are advantages and limitations of Interfirm

Comparison.

02) Summarized below is the forecasts of income and expenditure of A Ltd. for

the months of March to August 2014. [15]
Month Credit Credit Wages | Manufact | Office Selling
sales | purchases| (Rs) uring |Expenses| Expenses
(Rs) (Rs) Expenses | (Rs) (Rs)
(Rs)
March | 60,000 | 36,000 9,000 4,000 2,000 4,000
April 62,000 | 38,000 8,000 3,000 1,500 5,000
May 64,000 | 33,000 10,000 4,500 2,500 4,500
June 58,000 | 35,000 8,500 3,500 2,000 3,500
July 56,000 [ 39,000 9,000 4,000 1,000 4,500
August | 60,000 | 34,000 8,000 3,000 1,500 4,500

You are given the following information.

Plant costing Rs. 16,000 is due for delivery in July 2014, payable 10% on
delivery and balance after three months.

PTO




Advance Income Tax of Rs. 8,000 each is payable in March and June 2014.

A period of credit is allowed by suppliers 2 months and to customers one
month. Lag in payment of manufacturing expenses half month.

Lag in payment of all other expenses one month.

You are required to prepare a Cash Budget for three months starting on ¢
May when there was a cash balance of Rs. 8,000.

OR
From the following information calculate
a) Material cost variance.
b) Material Price variance.
c) Material Usage variance.
d) Material Mix variance. And verify the results.

Material Standard Actual
Qty Rate Amount Qty Rate Amount
Kg. Rs. Rs. Kg. Rs. Rs.
X 5 2 10 4 20
Y 3 3 9 2 6
V4 2 4 8 3 9
10 27 9 35

03) Expenses for the production of 500 units at 50% capacity are as follows.[20]

Per unit (Rs)
Material 500
Labour 200
Variable expenses 150
Fixed expenses (Rs. 50,000) 100
Administrative expenses -5% variable 100
Selling Expenses- 20% fixed 060
Distribution Expenses - 10% fixed 050
Total 1160

You are required to prepare a budget for 70% and 90% capacity At 90%
capacity material cost will increase by 10% and labour cost decrease by 5%.
Also calculate cost per unit.

OR

[4764] - 1013 2



a) The following data have been extracted from the books of A Ltd. Prepare

report on Responsibility centre basis. [10]

Particulars Budget Variance
Rs. Rs.

Direct Material 4,00,000 10,000 (A)
Direct Wages 3,00,000 12,500 (A)
Repair and Maintenance 2,00,000 5,000 (F)
Consumable Stores 50,000 1,000 (A)
Tools 30,000 1,000 (A)
Power and Fuel 1,50,000 7,500 (F)
Supervision 1,00,000 10,000 (A)
Administration 2,50,000 15,000 (A)
Factory Rent (Fixed) 50,000 ---
Depreciation (Fixed) 1,00,000 -
b)  Write short notes on any two : [10]

i)  Key and limiting factor

i)  Setting up of standards

i) The application of Uniform Costing
iv) Performance Measurement.

OO NO NS
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Total No. of Questions : 4] SEAT No. :

P3520 [Total No. of Pages : 4
[4764]-1014

M. Com. (Part-1) (Semester - I)
CO-OPERATION & RURAL DEVELOPMENT
Organisation of Co-Operative Business (Credit System)
(2013 Pattern) (Group - F) (Special Paper - II)

Time : 3 Hours] [Max. Marks : 50
Instructions to the candidates:
1) All questions are compulsory.

2) Figures to the right indicate full marks.
Q1) Define Co-operation. Explain the principles of Co-operation. [14]

OR

Discuss in detail the importance of professionalisation of Co-operative
Management.

02) Discuss the organisational structure of Co-operative department in Maharashtra.
What are its drawbacks? [14]

OR

Explain the need and importance of communication and leadership in
Co-operatives.

03) a) Write a detail note on control over Co-operatives through audit. [7]
b) Explain the importance of Co-operative training. [7]
OR

a) Point out the role of District Co-operative Union in Co-operative training.

b) State the problems of dairy Co-operatives in Maharashtra.

PTO.



04) Write short notes (Any Two) :

a)
b)
c)
d)

Problems of Housing Co-operatives.

National council for Co-operative training.

Problems of leadership in Co-operatives.

Importance of Co-operative Education.

OO0
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P3520 [4764]-1014
M. Com. (Part-1I) (Semester - I)
CO-OPERATION & RURAL DEVELOPMENT
Organisation of Co-Operative Business (Credit System)
(2013 Pattern) (Group - F) (Special Paper - 1I)
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Total No. of Questions : 4] SEAT No. -

P3882 [Total No. of Pages : 3
[4764]-1015
M.Com. (Semester - I)
BUSINESS PRACTICES AND ENVIRONMENT
Business Environment and Policy

(2013 Pattern) (Credit System)
Time : 3Hours] [Max. Marks : 50
Instructions to the candidates:
1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q1) Define the term business environment? Explain the importance of environment.

[14]
OR
What do mean by environment ? Explain the aspects of environment.
Q2) What is parallel economy? State the features of parallel economy. [14]

OR

Explain in detail the various opportunities in environment.

Q3) a) Describe the various measures taken by government for controlling
pollution. [7]

OR
Explain the effects of pollution.

b) State the importance of globalization. [7]

OR
Explain the effects of globalization on Indian economy.

P.T.O.



Q4) Short notes (Any two) : [8]
a) Green movement.
b) Inflation
c) Challenges of globalization.
d) Business environment with reference to India.
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M.Com. (Semester - I)

BUSINESS PRACTICES AND ENVIRONMENT

Business Environment and Policy

(2013 Pattern) (Credit System)
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Total No. of Questions : 4] SEAT No. :

P3521 [Total No. of Pages : 4
[4764]-1016

M.Com. (Semester - I)
BUSINESS ADMINISTRATION
Financial Management
(2013 Pattern) (Credit System) (Special Paper - II) (Group - D)

Time : 3 Hours] [Max. Marks : 50
Instructions to the candidates:
1) All questions are compulsory.
2) Figures to the right indicate full marks.
Q1) Whatis working capital? Explain in detail the significance of working capital?[14]
OR

What do you mean by Balance sheet? Explain the utility of Balance sheet.

02) Whatis Capital Budgeting? Explain its nature and purpose of capital budgeting?

[14]
OR
Define the term Financial Management? What are the objectives of Financial
Management?
03) a) Financial of working capital requirement. [7]

OR
Write a note on importance of financial analysis.
b) Explain the Capital Budgeting Techniques. [7]
OR

State the changes in Indian Capital Market.
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04) Short notes (any two) :

a)
b)
c)
d)

Working capital cycle.
Profitability Ratios.

Pay Back Period Method.
Indian Money Market.

OO0
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[4764]-1016
M.Com. (Semester - I)
BUSINESS ADMINISTRATION

Financial Management

(2013 Pattern) (Credit System) (Special Paper - II) (Group - D)
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Total No. of Questions : 4] SEAT No. :

P3522 [Total No. of Pages : 4
[4764]-1017

M. Com. (Part-1) (Semester - I)
ADVANCED BANKING & FINANCE
Central Banking (Special Paper - II)
(2013 Pattern) (Group - G) (Credit System)

Time : 3 Hours] [Max. Marks : 50
Instructions to the candidates:
1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) “The need for central banking arises out of the functions it performs”. Assess
the statement. [14]

OR

Explain in detail how RBI performs the general banking business of the Central
Government, ‘Ways and Means advances’ and ‘Overdraft’ to state governments.

0Q2) Define Cash Reserve Ratio. Spell out the demand and time liabilities that are
included and excluded for the purpose of calculation of CRR. [14]

OR

What are the different categories of non banking companies regulated by the
RBI? Spell out and explain in detail their regulations.

03) a) The currency chests-State its mechanism and operations. [7]
OR
Explain the qualitative instruments of credit control.
b) Explain RBI as the custodian of foreign exchange reserves. [7]
OR

Explain the quantitative instruments of credit control.

PT.O



04) Write short notes (any two) :

a)
b)
c)
d)

Rationale behind Central Bank.
Distribution of Currency.
Capital adequacy.

Board for financial supervision.

OO0
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P3522

[4764]-1017
M. Com. (Part-1) (Semester - I)
ADVANCED BANKING & FINANCE
Central Banking (Special Paper - II)
(2013 Pattern) (Group - G) (Credit System)
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Total No. of Questions : 4] SEAT No. :

P3523 [Total No. of Pages : 4
[4764]-1018

M. Com. (Semester - I)
ADVANCED MARKETING
Consumer Behaviour (Special Paper - II)
(2013 Pattern) (Choice Based Credit System)

Time : 3 Hours] [Max. Marks : 50
Instructions to the candidates:
1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) a) State changing role of product, marketer and consumer in modern
marketing. [14]

OR

b) Explain various learning theories.

02) a) State components of learning process. [14]
OR

b) Explain process of consumer research

03) a) Methods of collecting primary data. [7]
OR
b) Role of marketing in service sector.
And
c) State factors involved in Attitude formation. [7]
OR

d) Positive motivation.



04) Write short notes on (Any Two) :

a)
b)
c)
d)

Consumer protection legislation in India.

Business Ethics.
External factors affecting perception.

Stimulus Generalisation.

OO0
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[4764]-1018
M. Com. (Semester - I)
ADVANCED MARKETING

Consumer Behaviour (Special Paper - II)

(2013 Pattern) (Choice Based Credit System)
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Total No. of Questions : 4] SEAT No.

P3524 [Total No. of Pages : 4
[4764] - 2001
M.Com. (Semester - 1)
FINANCIAL ANALYSIS & CONTROL
(2013 Pattern) (Credit System)

Time : 3 Hours] [Max. Marks : 50

Instructions to the candidates:
1) All questions are compulsory.
2)  Figures to the right indicate full marks.

Q1) Minal Electronics Ltd. is considering the purchase of machine. [14]

Two machine P and Q are available each costing Rs. 3,00,000. In comparing
the profitability of machines a discount rate of 10% is to be used. Earnings
after taxation are expected to be as follows :

Year Machine 'P' Machine 'Q'
(Rs.) (Rs.)
1 90,000 30,000
2 1,20,000 90,000
3 1,50,000 1,20,000
4 90,000 1,80,000
5 60,000 1,20,000

Indicate which machine would be more profitable under the following methods
of ranking investment proposals.

a) Payback method.

b) Average Return on investment method.

c) Net present value method.

The present value of Rs. 1 to be received at the end of each year, at 10%

p.a. s given below:

PTO.



Year Present Value
1 0.909
2 0.826
3 0.751
4 0.683
5 0.621

OR

Explain how the cost of capital is determined in respect of the following.

a) Cost of Preference Shares.

b) Cost of Equity Shares.

c) Cost of Debt / Debentures.

02) From the following forecasts of income and expenditure, prepare a Cash

Budget for the period from June 2014 to August 2014. [14]
Months| Sales | Purchases | Wages Manufacturing Selling
Rs. Rs. Rs. Expenses Expenses
April, | 1,50,000 [ 1,20,000 | 15,000 20% of wages | 5% of Total
2014 Sales
May, | 2,40,000 [ 1,50,000 | 15,000 20% of wages | 5% of Total
2014 Sales
June, | 1,80,000 | 2,10,000 [ 18,000 20% of wages | 5% of Total
2014 Sales
July, | 2,10,000 | 1,20,000 | 18,000 20% of wages | 5% of Total
2014 Sales
Aug., | 1,80,000 90,000 | 21,000 20% of wages | 5% of Total
2014 Sales
[4764] - 2001 2




Additional Information :

a)
b)

c)
d)

e)

f)
g)

h)

1/5™ of the sales are on cash basis.

50% of the credit sales are recovered in the next month, whereas 50%
are recovered after two months.

Cash sales are made at 5% cash discounts.

All purchase are credit purchase and the due amount is paid after two
months.

Wages are paid 15 days in arrears.
Manufacturing expenses and selling expenses are paid in the same month.

A machine costing Rs. 1,80,000 is to be purchased in the month of July
2014. 50% payment is to be made in the same month and the remaining
amount is to be paid in three equal instalments along with interest @ 18%

p.a.
As on 1% June, 2014 cash balance is 1,09,800.

OR

What is Break - Even Analysis ? State the assumptions, advantages and
limitations of Break - Even Analysis.

03) a)

b)

State the advantages and limitations of Standard costing. [7]
OR
The following particulars are obtained from the records of a factory

manufacturing product X & Y.

Particulars Product X Product Y
(Per unit) (Per unit)
Rs. Rs.
Selling Price 300 600
Material Cost @ Rs. 10 per Kg. 60 150
Wages Rs. 3 per hour 90 180
Variable overheads 30 60
Total Fixed cost Rs. 15,000

[4764] - 2001 3



State which product is better to be produced and why in the following
cases :

i)  Iftotal sales in unit is key factor.

ii) Iftotal sales in value is key factor.
i) If raw material is in short supply.

iv) Iflabour hours is the limiting factor.

v) If raw material available is 6000 kgs. And maximum sale of each
product is 750 units.

c) Differentiate between Fixed Budget and Flexible Budget. [7]
OR

d) The standard material cost to produce a tone of chemical Y is -
900 kg. of material A at Rs. 10 per kg.
1200 kg. of material B at Rs. 5 per kg.
1500 kg. of material C at Rs. 6 per kg.

During the period, 100 tones of chemical Y were produced from the
usage of 105 tones of material A at a cost of Rs. 9,000 per tone.

105 tones of material A at a cost of Rs. 9,000 per tone.
126 tones of material B at a cost of Rs. 6,000 per tone.
159 tones of material C at a cost of Rs. 7,000 per tone.

Calculate price, usage and mix variances.

04) Write Short Notes : [8]
a) Implicit Cost and Explicit Cost.
b) Master Budget.
c) Profitability Index.
d) Key Factor.

[4764] - 2001 4



Total No. of Questions : 4] SEAT No.

P3525 [Total No. of Pages : 2
[4764] - 2002
M.Com. (Semester - 1)
INDUSTRIAL ECONOMICS
(2013 Pattern)

Time : 3 Hours] [Max. Marks : 50

Instructions to the candidates:
1) All questions are compulsory.
2)  Figures to the right indicate full marks.

Q1) State and explain scope and limitations of Industrial Economics. [14]
OR
State and explain Sarjent Florences theory of location of Industries.

02) What is Industrial productivity? Explain factory influencing on Industrial

Productivity. [14]
OR
Explain measures adopted by Indian Government to improve Industrial
Efficiency.
03) a) Explain functions of private sector enterprises. [7]
b) Explain problems of public sector enterprises. [7]
OR

a) Explain problems of small and medium enterprises in India.
b) Explain effects of industrial imbalance.

04) Write short notes (any two) : [8]
a) Relationship between Industrial development and Economic development.
b) Causes of Industrial imbalance.
c) Measurement of Industrial Profitability

d) Disinvestment policy.

PTO.
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M.Com. (Semester - 11)
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(2013 Pattern)
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Total No. of Questions : 4]

P3526

[4764]-2003
M.Com. (Semester - 1)

SEAT No. :

BUSINESS STATISTICS

(2013 Pattern) (Credit System)

Time : 3 Hours]
Instructions to the candidates:

1)  All questions are compulsory.

2) Figures to the right indicate full marks.

3) Use of statistical tables and calculator is allowed.

4)  Symbols have their usual meanings

Q1) Attemptany TWO of the following:

[Total No. of Pages : 3

[Max. Marks : 50

[7]

a) Arandom variable X has following probability distribution:

X

1

2

3

4

5

6

P(X =x)

K

3K

3K

7K

4K

2K

)  Find value of K.

i) Find P(1 < X < 3)

iii)  Find P(X < 3), P(X > 2).

b) Two dies are tossed simultaneously. A discrete random variable X denotes
absolute difference between the integers appearing on the uppermost
faces. Obtain probability distribution of X. Also find mean and variance

of X.

[7]

c) 1) For a Poisson distribution P(X = 1) = 0.031093 and P(X = 2)
= 0.079288, find P(X=0) , P(X=3) mean and variance of the

distribution.

[3]

P.T.O.



i) A filmdirector claims that his films are equally liked by males and
females. An opinion poll of 1000 viewers revealed the following

results: [4]
Attribute Liked Disliked
Males 402 193
Females 245 160

Is the film directors claim supported by the data.

Given y* =3.81,%2 =5.99,x° = 7.81 at 5% L.O.S.

Q2) Attempt any TWO of the following :

3)

b)

)  Suppose X — B(n, p) [4]
1) If E(X) =16, Var(X) = 3.2, find n and p.
2) IfE(X)=20,n=30,find p, Var(x).

i) Inordertostart new ST bus to a certain remote village it is required
to get Rs. 400/- as an average daily fare. The report of 21 days
revealed the average collection of Rs. 390/- with standard deviation
of Rs. 40/-. Do these data support the demand of people for starting

new bus to the village? [g i%’f)'?)tzo k=)(,20|§6_ 1%:)( 2<.(%80] [3]

An 1Q test was administered to 5 p_e@on%tt%eeﬁ,%?sgnd after they were

trained. The result are given below : [7]
Candidates A|l B| C D| E

IQ before training | 110 | 120 | 123| 132 | 125
IQ after training 120 | 118| 125 | 136 | 121

Test whether there is change in 1Q before and after the training programme
(take o = 0.05). (Given t,, = 2.06, t,, = 2.056, t, = 2.052)

26 27
Let X be c.r.v. whose p.d.f. is given by [7]

Find k, P(X > 0), P(0 < X < %)
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Q3) Attempt the following:

3)

b)

d)

In a random sample of 500 persons from town A, 200 are found to be
consumers of wheat. In a sample of 400 from town B 220 are found to
be consumers of wheat. Do these data reveal a significant difference
between town A and town B as far as the proportion of wheat consumers

IS concerned? [7]
OR

If X — N( 3, 2?), find [7]

) P(X>D5)

i) P(X<1)

i) P(2<X<6)

iv) E (Y)and Var (Y), where Y =2X - 3.

) A production department of a company knows from the past
experience that there is 30 % chance of finding defect. If 10 units of

the product are examined, find probability that not more than
1 defective product is found. [4]

i) A sample of 400 people is found to have mean weight of 50.47 kg
Can it be regarded as a sample from large population with mean

weight of 52 kg and standard deviation 1.2 kg [3]

OR
The average number of misprints per page of a book is 1.5. Assuming
the distribution of number of misprints be Poisson, Find : [4]

I)  The probability that the book is free from misprints. Number of
book containing more than one misprint in a book of 900 pages.
[Given e 1% =0.22313]

i)  Define unbiased estimator. Also give two examples of it. [3]

Q4) Attempt any two of the following :

3)
b)

c)

Write short note on normal distribution. [4]

What do you by confidence interval of an unbiased estimator? [4]

Explain the procedure of Large Sample Test for equality of two population

means. [4]
*640
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Total No. of Questions : 3] SEAT No.

P3527 [Total No. of Pages :7
[4764]-2004
M.Com. (Semester - I1)
ADVANCED ACCOUNTING AND TAXATION
Specialised Areas in Accounting
(2013 Pattern) (Special Paper - I11) (Credit System)

Time : 3Hours] [Max. Marks :50
Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

3) Use of Pocket calculator is allowed.

Q1) The Balance Sheets of Puri and indapuri Ltd. as on 31-3-2015 were as
Follows: [15]

Balance sheet of Puri Ltd.

Liabilities Rs. Assets Rs
Share Capital Goodwill 22,500
675 Equity Shares Land and Building | 32,500
of Rs. 100 each 67,500 Plant and Machinery| 12,500
General Reserve 3,000 Stock 20,000
Dividend Equalization Debtors 10,500
Reserve 2,500 Less : R.D. D. __500| 10,000
Profit and Loss Alc 4,500 Cash In hand 2,500
Creditors 20,000 Cash at Bank 10,000
Outstanding 1,250
Provision for Taxation 11,250

1,10,000 1,10,000

P.T.O.



Balances sheet of Indapuri Ltd. as on 31-3-2015

Liabilities Rs. Assets Rs.
Share Capital : Land and Building 20,000
500 Equity Shares of Plant and Machinery | 20,000
Rs 100 each 50,000 Furniture and Fittings| 3,750
Bank Overdraft 5000 Vehicles 11,250
Creditors 17,500 Stock 12,500
Debtors 3,500
Less : R.D.D 1,000 | 2,500
Cash-in-hand 1,250
Profit and Loss A/C | 1,250
72,500 72,500

The Companies amalgamated as on date of above Balance Sheet and new
Company Satpuri Ltd. Was formed to carry on the business of puri Ltd.
and Indapuri Ltd. on the following terms:

a)

b)

Satpuri Ltd. took all Assets of Puri Ltd. except debtors, Cash and
bank balances at 10% Depreciation and agreed to pay Rs. 25,000 for
Gooodwill. It also took over creditors and outstanding expenses. Tax
liability for 1997 was realized at Rs.9,500

Satpuri Ltd. took all assets of indapuri Ltd except Cash and Debtors,
Land and Building and Stock were taken at 20% appreciation and
other assets were taken at book value. Satpuri Ltd. also agreed to take
over the creditors of Indapuri Ltd.

Indapuri Ltd. paid bank overdraft in full.
The purchase consideration was satisfied as follows;

Cash of Rs. 5,000 to puri Ltd. and Rs.3,750 to Indapuri Ltd. The
Balance of purchase Consideration was paid in the Equity Shares of
Satpuri Ltd. of Rs.100 each.

Debtors of Puri Ltd and Indapuri Ltd realized Rs.9,500 and Rs.3,000
respectively.

You are required to prepare:

[4764]-2004 2-



Realisation account, Cash Account, Satpuri Ltd. Account and Equity
shareholders Account in the books of puri Ltd and Indapuri Ltd.

OR
The abridged Balance Sheet of P Ltd. as on 31 December, 2014 is as
Under :
Liabilities Rs. Assets Rs.
24000Equity Shares of Rs.10 | 240000 | Goodwill 5000
each

Fixed Assets 257000

5000 8% Cumulative Preference
Shares of Rs. 10 each 50000 | Stock 50000
8% Debentures 100000 | Debtors 60000
Interest Accrued on Bank 1000
Debentures 8000 | Preliminary Expenses| 15000
Creditors 100000 | Profit & Loss A/C 110000

498000 498000

The Following scheme is passed and sanctioned by the court:

a) A new Company PK Ltd. is formed with Rs. 3,00,000 divided into
30,000 Equity Shares of Rs.10 each.

b) The new company will acquire the assets and liabilities of P Ltd. on
the following terms:-

)

Old Company's Debentures are paid by similar Debentures in
new company and for outstanding accrued interest, shares of equal
amount are issued at par.

The creditors are paid for every Rs. 100: Rs.16 in cash and 10
shares isssued at par.

Preference shareholders are to get equal number of Equity Shares
at par. For arrear dividend amounting to Rs.12000, 5 shares are
issued at par for each Rs. 100 in full satisfaction.

Equity shareholders are issued one shares at par for 3 shares held.

Expense Rs. 8000 are to be borne by the New Company as part
of the purchese consideration.

c) Current assets are to be taken at book value (except stock which is to

[4764]-2004 -3-



be reduced by Rs. 3000). Goodwill to be eliminated, balance of
purchase consideration being attributed to Fixed Assets.

d) Remaining share of the New Company are issued at par and are fully
paid. You are required to show:-

1) In the old Company's books

1)  New Company's books

i) Realization and Reconstruction (combined) Account
2) In the New Company's books

1) Bank Account

i) Summarized Balance Sheet.

Q2) Union Transport Company Supplies the following details in respect of a

truck of 5 tonne Capacity. [15]
Particulars

Estimated Life 10 Years

Disel, QOil, Grease 15 Per Trip each Way
Cost of Truck Rs. 90000

Repairs and Maitenance Rs. 500 P.m

drivers Wages Rs.500 P.m

Cleaners Wages Rs. 250 P.m
Insurance Rs. 4800 P.a

Tax Rs. 2400 P.a
Supervision Charges Rs. 4800 P.a

The truck carries goods to from the City covering a distance of 150 kms
each way on outward trip freight is available to the extent of full capacity
and on return 20% of capacity.

Assuming that the truck runs on an average 25 days a month workout.
a) Operating cost tonne-km

b) Rate per tonne per trip that the company should charge if profit of
50% on fright is to be earned.

OR

[4764]-2004 4



Following is the trial balance and Additional information of Vidya Public
School, prepare

Income and Expenditure account for the year ended 31st March, 2015 and
a balance sheet as on the date.

Particular
Capital Fund 5,00,000
Building 3,00,000
Furniture & Fitting 50,000
Library Books 50,000
Admission Fees 45,000
Tution Fees 50,000
Examination Fees 2,00,000
Govt. Grant 2,00,000
Salaries and Wages 2,000
Rent for the Hall 75000
Subscription Received 50,000
Donation (Not to be Capitalized)
Investment @ 12% P.a 3,00,000
Sundry Receipts 2,000
Printing & Stationary 5,000
Telephone bill 5,000
Exps. of annual Social Function 7,000
Cash at bank 3,000
Cash at Hand

9,42,000 9,42,000

Additional information

1)  Subscription due Rs.10,000/-

i)  Subscription received in advance Rs. 15,000/-
1) Tution fees yet to be received Rs. 5,000/-

Iv) Salaries and Wages Outstanding Rs. 10,000/-

V) Provide depreciation @ 10% on Building, Furniture and Fitting and
Library Books.

[4764]-2004 -5-



Q3) @ M.N jog construction Ltd. have obtained a contract for construction of
a bridge. The value of the [10]

contract is Rs 12,00,000 and the work commenced as on 1-10-2013.
The following details are shown in their book for the year ended 30-

09-2014
Particular Amt Particular Amt
Plant Purchased 60,000 | Wages Accrued 2,800
Wages Paid 3,40,000 | (30-09-2014)
Material issue to site 3,36,000 | Direct Exp. Accrued 1,200
Direct Exp. 8,000 | (30-09-2014)
General overhead Work Uncertified 14,000
Apportioned 32,000 | Cash Received being
Material at site 4,000 [ 80% of Work Certified|6,00,000
(30-09-2014)

Life of plant is 5 years and scrap value is nil. Prepare contract account
For the year ended 30-09-2014.

OR
a) A Dealer Purchased the following goods in a state during the month of
March 2014
Particulars Total Input Tax paid Net amount
amount (Rs.) (Rs.) (Rs.)

4% Vat Goods 520000 20000 500000
12.5% Vat Goods 450000 50000 400000
Vat Exempt goods 100000 - 100000

Total 1070000 70000 1000000

b) The input tax paid on purchase of goods is eligible for VAT credit

c) Sales made by the dealer during the month are as follow

[4764]-2004 -6 -



Particulares Gross amount Output Tax Net Sales
(Rs.) Collected (Rs.)| (Rs.)

4% Vat Goods 572000 22000 550000

12.5% Vat Goods 506250 56250 450000

Vat Exempt Goods 125000 - 125000

Total 1203250 78250 1125000
Suggested Accounting Treatment. (Journal Entries)
b) Write short Notes-(any two) [10]

1)  Mutual Funds
i) CENVAT Credit
lii) Tax Deducted at source

Iv) Service Tax

[4764]-2004 7-



Total No. of Questions : 4] SEAT No. -

P3528 [Total No. of Pages : 3
[4764]-2005

M.Com. (Part - 1) (Semester - 1)
COMMERCIAL LAWS & PRACTICES
E-Security and Cyber Laws (Special Paper -111) (Group - E)

(2013 Pattern) (Credit System)
Time : 3Hours] [Max. Marks : 50
Instructions to the candidates:
1) All questions are compulsory.
2) Figures to right indicate full marks.

Q1) What is Computer Crime? Explain the types of computer crimes. [14]
OR
What is Electronic Security? Explain the types of Intruders.

Q2) Explain the various E-Governance (Section 04 to 09) and E-records (Section-
11 to 16) under Information Technology Act, 2002. [14]
OR
Explain the penalties for Cyber Wrongs and Adjudication (Section 43-47)
under InformationTechnology Act, 2002.

Q3) a) Explain how computer frauds can be prevented? [7]
b) Explain the legal aspects of E-contracts. [7]
OR

a) Describe in detail Hackers and Crackers.
b) Write a note on the Bankers Book Evidence Act, 1891 according to
Information Technology Act, 2002.

Q4) Write short notes on: (Any two) [8]
a) Computer Frauds.
b)  Antivirus Software.
c) Digital Signature Certificate.
d) Information Technology Act, 2002.

vV Vv ¥V
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Total No. of Questions : 4]

P3528

[4764]-2005
M.Com. (Part - 1) (Semester - 1)
COMMERCIAL LAWS & PRACTICES

E-Security and Cyber Laws (Special Paper - I11) (Group - E)

(2013 Pattern) (Credit System)
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Total No. of Questions : 4] SEAT No. -

P3529 [Total No. of Pages : 3
[4764]-2006

M.Com. (Semester - I1)
ADVANCED COST ACCOUNTING AND COST SYSTEMS
Application of Cost Accounting

(2013 Pattern) (Special Paper -111) (Credit System)

Time : 3Hours] [Max. Marks : 50
Instructions to the candidates:

1) Attempt all questions.

2) Figures to the right indicate full marks.
3) Use of calculator is allowed.

Q1) a) Prepare a reconciliation statement showing the profits as per cost
accounts. [11]

14
Net profit as per financial a/c 2,57,510

Under-recovery of factory overheads in costa/c 6,240
Over-recovery of office overheads in

cost a/c 3,400
Depreciation in financial a/c 22,400
Depreciation in cost a/c 25,000
Interest on investment not included

in cost a/c 16,000
Loss of Obsolescence charged in Fin. a/c 11,400
Income Tax debited in financial a/c 80,600
Bank interest credited in finance a/c 2,450
Loss in stock not charged in cost a/c 13,500

b) Write a note on Reasons of Reconciliation of financial & cost a/c. [3]
OR

P.T.O.



The profit as per cost accounts is ¥ 1,50,000. The following details are
ascertained on a comparison of the cost and financial accounts:

Cost A/C Financial

A/IC
(X)) (X))
a)  Opening stock:
Materials 10,000 15,000
Work-in-progress 18,000 16,000
b) Closing stock:
Materials 12,000 13,000
Finished Goods 20,000 17,000

c) Interest charged but not paid %.10,000

d)  Write off preliminary expenses ¥-500 and goodwill .1500.

e) Dividend received %.1000

f)  Indirect expenses charged in financial a/c %. 80,000 but .75,000 recovered
in the cost a/c .
Find out the profit as per financial accounts by drawing up a reconciliation
statement.

Q2) 'Pragati Industry Ltd' manufacture product 'A' at the rate of 160 pieces per
hour. The company has been producing and selling 3,20,000 units p.a during
the period of 5 years. However, during the year 2013, the Co was able produce
2,92,000 units only. The Co's annual fixed overhead for 2013 amounted to
%.11,68, 000. The Co. works on single shift only at 8 hours per day and 6
days a week. The company had declared 13 days holidays during the year
2013 . The repair & maintenace involved 77 hours. Perquarter calculate the
maximum, practical, normal & actual capacities in 2013 in terms of Hours.[14]

OR
From the following data, calculate overhead rate
a)  When normal capacity is related to practical capacity
b) When normal capacity is related to sales expectancy &
c) When normal capacity is related to maximum capacity.

Capailty level Maximum Practical Avg. on
(100%) (90%)  expected sales
(80%)
Direct Labour Hours 10,000 9000 8000
Budget; Fixed OHS 14,400 14400 14400
Variable OHS 10,000 9000 8000

[4764]-2006 -2-



Q3) What is lifecycle costing? Explain the stages in product life cycle. [14]
OR
Explain how does value chain approach help an organisation to assess its
competitive advantage.

Q4) Write short notes on: (Any two) [8]
a)  Technical measures to improve productivity
b) Financial measures to improve productivity
c) Prodctivity Vs. afficiency
d) Benefits of product life cycle costing.

vV Vv ¥V
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P3530 [Total No. of Pages : 3
[4764]-2007

M.Com. (Semester - I1)
CO-OPERATION AND RURAL DEVELOPMENT
International Co-Operative Movement (Special Paper -111)

(2013 Pattern)

Time : 3Hours] [Max. Marks : 50
Instructions to the candidates:

1) All questions are compulsory.

2) All questions carry equal marks.

Q1) Explain the role of rocfidale Equitable pioneer's Society in the development
of co-operation.
OR
How did the co-operative movement originate?

Q2) What led to the development of International Co-operative Alliance (ICA)?
OR
Explain the role of co-operatives in socialistic system.

Q3) Explainthe role of agricultural co-operatives in Japan.
OR
Explain the co-operatives in Israel.

Q4) Explain the nature of co-operatives in china.
OR
Would co-operatives survive in the globalised era?

Q5) Write short Notes (Any Two).
a) Problems faced by co-operatives
b) Electrical co-operatives in USA.
c) Suggestions for reforming co-operatives
d) Co-operative Principles.

P.T.O.
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M.Com. (Semester - I1)
CO-OPERATION AND RURAL DEVELOPMENT
International Co-Op. Movement (Special Paper -111)
(2013 Pattern)
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Total No. of Questions : 4] SEAT No. -

P3531 [Total No. of Pages : 4
[4764]-2008

M.Com. (Semester - I1)
BUSINESS PRACTICES AND ENVIRONMENT
Modern Business Practices (Special Paper -111) (Group - C)

(2013 Pattern) (Credit System)
Time : 3Hours] [Max. Marks : 50
Instructions to the candidates:
1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q1) Explain the importance, objectives & functions of Maratha Chamber of
Commerce. [14]

OR

Explain in detail Efficiency, Autonomy and Control of Public Enterprises in
India.

Q2) Explain the problems and prospects of Agricultural Business in India. [14]
OR

Explain the following scheme of support for Women Entrepreneur in
Maharashtra.

a) Swayamsidha Programme

b) Rajarshee Shahu Maharaj Swayamrozgar Yojana.

Q3) a) Explain the functions of Federation of Indian Chamber of Commerce &
Industries . [7]

OR

b) Explain the Management Practices of Public Enterprises in India.

P.T.O.



c)

d)

State the nature and disposal of Agricultural By-product.

OR

Explain the problems of small scale industries.

Q4) Write short notes (Any Two):

3)
b)

c)
d)

Indian Merchants Chamber
Public Utilities

Farm Waste
Swarna Jayanti Gram Swarozgar Yojana

[4764]-2008 2-
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[4764]-2008
M.Com. (Semester - I1)

BUSINESS PRACTICES AND ENVIRONMENT
Modern Business Practices (Special Paper -111) (Group - C)
(2013 Pattern) (Credit System)
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P3532 [Total No. of Pages : 4
[4764]-2009

M.Com. (Semester - I1)
BUSINESS ADMINISTRATION
Business Ethics and Professional Values (Group - D)

(2013 Pattern) (Special Paper -111) (Credit System)
Time : 3Hours] [Max. Marks : 50
Instructions to the candidates:
1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q1) Whatis 'Business Ethics'? Explain the principles of Indian ethics a values.[14]
OR

Explain in detail the Indian ethical & Non-ethical practices regarding copy
rights & patents.

Q2) Define the concept 'Corporate social responsibility’. Explain the principles &
types of Corporate social Responsibility. [14]

OR
Explain in detail Gandhiji's principles of Satya & Ahinsa.

Q3) a) What is 'Social Ethics'? Explain issues & guidelines of social ethics. [7]

OR
b) Explain the ethical & Non-ethical practices regarding Accounting
Disclosures. [7]
c) Define the term 'Corporate Governance' explain its principles. [7]
OR
d) Explain Gandhian Approach in Management & Trusteeship. [7]

P.T.O.



Q4) Write short notes (Any Two): [8]
a) Importance of Business Ethics.

b) Indian ethical Practices in Marketing
c) Corporate Citizenship
d) New values in Indian Industries after economic reforms of 1991.

[4764]-2009 2-
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[4764]-2009
M.Com. (Semester - I1)
BUSINESS ADMINISTRATION

Business Ethics and Professional Values (Group - D)
(2013 Pattern) (Special Paper -111) (Credit System)
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Total No. of Questions : 4] SEAT No. -

P3533 [Total No. of Pages : 4
[4764]-2010

M.Com (Part - I) (Semester - I1)
ADVANCED BANKING AND FINANCE
Banking Law and Practices (Group - G)

(2013 Pattern) (Special Paper -111) (Credit System)
Time : 3Hours] [Max. Marks : 50
Instructions to the candidates:
1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q1) Explain the Obligations of the Banking companies, financial institution and
intermediaries as under section 12 to 15 of the Prevention of Money Laundering
Act, 2002. [14]

OR

How do the Reserve Bank of India guidelines on the customer service in
banks define a 'Customer'? Explain bankers' right of set off.

Q2) Explainin detail the definition of a Non Performing Asset (NPA). Explain how
assets of banks are classified using non performing assets as the base. [14]

OR

What do you understand by bankers' duty of secrecy of customer's account?
Why is this duty essential?

Q3) a) Explain the following provisions of the Prevention of Money Laundering
Act, 2002 [7]

)  Offence of money laundering
i)  Punishment for money laundering
OR

Explain the cases under which banker customer relationship can come
to an end?

P.T.O.



b) How could the NPAs of banks be reduced? [7]
OR

"Technology upgradation and hi-tech banking are inseparable." Comment.

Q4) Write short notes on (Any Two): [8]

a)  Definition of 'Property' and 'Proceeds of Crime' as under Prevention of
Money Laundering Act, 2002

b) Credit Information Bureau of india Limited
¢) Liquidity risk in banks' Asset Liability management
d) Consolidation of banks.

[4764]-2010 -2-
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[4764]-2010
M.Com (Part - I) (Semester - I1)
ADVANCED BANKING AND FINANCE
Banking Law and Practices (Group - G)

(2013 Pattern) (Special Paper -111) (Credit System)

3e 34|

(FET EUTR)
[ wegor 7o : 50

ger cg 1) e gy sifAard siga.

3)  wewfATd ge Fue SeE T,

97 1)

97 2)

97 3)

Tt e afaes wer, 2002 nefiet swem 12 9 15 siaia ‘sfeh shown, foxfa

TEAT 3MOT e’ ATt STl T . [14]
feren

A ? Sehell SIS STTERR TI8 .

TRTeRTOT el B ? [14]
feren

Fehdl AU UTEEhRTEAT WICATHEHTAI THA Thaed AT raTell Shidl STfael gidl ?

2 HdsT o TS R ?

) wH v giaay wEen, 2002 aeie el gt T . [7]
) W SR TR
i) i AveiEE e
feRan
ek T TS UTEeh AL UTEDR HEY I TRIEAAT TS 3% Ikt o
W FA.



97 4)

F) ehrean fAfsha AToHT HIMIHR HH hedl AT Ihard ? [7]
feRan
AT GLURUM SAMUT FrEeh aAfchT AT ATga’. WIS .

fom formn. (ST 29) [8]
) W Al ufasy wraer, 2002 wsier wremmn onfur TeETdie STt
T SATEAT

¥) YRAE Ud Higd AE® wdited
W) Ud ST AT SHEEATIATAA aleldl AiRkaw

g) Sehid GEIHTl

[4764]-2010 -4 -



Total No. of Questions : 4] SEAT No. -

P3534 [Total No. of Pages : 4
[4764]-2011

M.Com (Semester - I1)
ADVANCED MARKETING
Customer Relationship Management and Retailing

(2013 Pattern) (Special Paper -111)
Time : 2 Hours] [Max. Marks : 50
Instructions to the candidates:
1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q1) Explain various factors responsible for the growth of customer Relationship
Management. [14]

OR
What is E-CRM? Describe applications of E-CRM in marketing.

Q2) What is customer Retention Management? Explain various strategies used for
Retention. [14]

OR
Describe latest developments in customer relationship Management.

Q3) a) State the challenges of Customer Relationship Management. [7]
OR
b)  Write a note on "Customer experience Management".
AND
c) What isthe Importance of customer relationship Management? [7]
OR

d) Describe customer perception.

P.T.O.



Q4) Write short Notes on (Any Two): [8]
a) Employee organisation Relationship.

b) CRM Softwares.
c) Importance of Customer satisfaction.
d) CRM and cost benefit analysis.

[4764]-2011 -2-
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[4764]-2011
M.Com (Semester - I1)
ADVANCED MARKETING

Customer Relationship Management and Retailing

des 1 2amH|

(2013 Pattern) (Special Paper - 111)
(WSt ®UTaR)
[wegor o7 : 50

geAT ;g 1)  9d 999 |iefau sravas .

2) IHIhEteT 3k YUl U7 gitAard.
3) w@gWIaIdt Yz U TyulihT Ugrat.

97 1)

97 2)

%7 3)

UTgeh HaE ATEATIATAT LTS FAEER e fafae geew g &, [14]
feen

TR —TTEeh Hael STTEATIA TgUTS il ? famurmshic 3-Imgeh dae) saaeema-rei

ASSTIET fovTe .

UTgeh STRUTIIIRR! SAEETIH FgUTS ST ? RUTIIRAIETE! STURea SIUT=T {ferel sgete

T . [14]
feha

UTgeh HEE SATCATATNA YHF TqeA {I91g .

) UTEH HeY HGEATYATAA SATgH T, [7]
fRan

) UEH AN FAEAUA TR 9 forgn.
arfor

%) UTEH HaY SHACATIATS Wged HH? [7]
fRan

) URgH HaeA fave =



g9 4)  odiedEm A ot (RO )
) HHIR TEEA HEY
q)  UTEH HEY TAEATITETSEN TUTRS STt
%) UTEeh THILM HEeal

B) UTEh HaY SHALATIA 30T e —ony fargeiwon

[4764]-2011 -4 -

[8]



Total No. of Questions : 4] SEAT No. :

P353S5

[Total No. of Pages : 4
[4764] - 2012
M.Com. (Semester - II)
ADVANCED ACCOUNTING AND TAXATION
Business Tax Assessment And Planning
(2013 Pattern) (Group - A) (Special Paper -1V)

Time : 3 Hours]
Instructions to the candidates:
1) All questions are compulsory.
2) Figures to the right indicate full marks.
3)  Working shall be treated as a part of answer.

[Max. Marks : 50

Q1) From the following profit and loss Account of S, Co, Ltd. For the year ended
31-3-2015 and the further information given below. Compute its total income.[14]

Particular Rs. Particular Rs.
To Opening stock 4,00,000 | By sales 40,00,000
To Purchases 25,00,000 | By closing stock| 5,00,000
To Salaries 6,00,000 | By rent from
To Travelling expenses 1,00,000 | buildings 4,00,000
To Legal charges 50,000
To Miscellaneous expenses 60,000
To Office rent 1,20,000
To Advertising 70,000
To Municipal taxes 40,000
To Repairs 20,000
To Fire insurance 10,000
To Bad debts 35,000
To Bad debts reserve 25,000
To Provision for taxation 4,50,000
To Donation 40,000
To Depreciation 80,000
To Net profit 3,00,000
49,00,000 49,00,000

PTO.




Additional Information :-

a)
b)

c)
d)

e)

Depreciation admissible as per I.T. Rules Rs. 50,000.
Legal expenses include Rs. 10,000 being penalty for violating foreign
exchange regulation.
Advertising expenses include Rs.20,000 paid for calendars and diaries.
Municipal taxes paid, repairs and fire insurance related to building
let out.
Donations were paid to the prime minister's drought relief fund.

OR

Anusaya co-operative society Ltd. Furnishes the following particulars of its
income for the previous year ending on 31% March 2015.

Particulars Rs.
a) Interest on governments securities 30,000
b) Income from purchase and sale of agricultural

implements and seeds to its members 1,50,000
c) Income from Marketing of agricultural produce

of its members 1,80,000
d) Profit and gains of business 1,50,000
e) Income from the letting of warehouse 1,00,000
f)  Income from cottage industry 1,50,000
g) Interest and dividends (gross) from other

co-operative societies 50,000

02) A)

[4764] - 2012

Compute total income and Tax liability of co-operative society for the
A.Y.2015-16.

Bhimashankar public charitable Trust (registered u/s 12 A of the income
Tax Act) furnishes the following data for the financial year ending

31 March 2015. [11]
Particular Rs.

a) Income from engineering college affiliated

to university (gross receipts Rs. 1 crore.) 10,00,000
b) Income from properties held in trust

(out of this Rs.2,00,000 was not received

during the year and Rs. 2,00,000 was received

only on the last day of the year) 30,00,000
c) Netincome from business held under trust 2,00,000
(as incidental to the main object as per books)
d) Amount spent on free scholarship, free meals

and free medical relief. 9,00,000
e) Repayment of loan taken for construction of
health care centre. 3,00,000

You are required to compute the Taxable Income of the trust for
the Assessment year 2015-16.



OR
Al) Compute the net wealth & wealth tax of Aditi Ltd, as on
31 March 2015, The company is engaged in jewellery business

export and domestic sales. [5]
Factory Building (WDV) 50,00,000
Bank Balance 10,00,000
Unaccounted cash balance 5,00,000
Silver ware 7,00,000
Gold ornaments 5,00,000
Motor cars (WDV) 10,00,000
Farm house within 10km of municipal

limits (value as per schedule III) 40,00,000

Guest house in USA (value as per schedule III)  50,00,000
The company has taken a loan of Rs.10,00,000
by mortagage guest house and built the factory premises.

A2) Rohit has been providing services for last three years and value of
both taxable and non-taxable services provided were as under. [6]

Financial year Valued taxable Value of
services provided. Non - taxable
Service provided.
3 3
2011-12 8,00,000 4,00,000
2012-13 5,00,000 7,50,000
2013-14 9,90,000 4,70,000
During the financial year 2014-15. He has provided the following
services:-
a) Value oftaxable services b)  Value of non taxable services
¥ 12,00,000 ¥ 3,00,000
Compute his service tax liability in a such manner that he has to pay
minimum tax.
B) Write a short note on any one of the following [3]

a) Concept of tax avoidance.
b) Return of Income.

03) Answer the following.
a) Types of Assessment. [7]
b) Powers of central board of direct taxes. [7]
OR
a) Advanced payment of tax.

b) Tax planning consideration in relation to business.

[4764] - 2012



04) Write a short notes (Any Two) [8]
a) Basic concept of VAT.
b) Classification of goods.
c) Taxable services.

d) Custom duty.

SISIS
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Total No. of Questions : 4] SEAT No. :
P3536

[Total No. of Pages : 4
[4764] - 2013

M.Com. (Part - I) (Semester - II)
COMMERCIAL LAWS AND PRACTICES
Law Relating to Copyright and Designs
(2013 Pattern) (Credit System) (Special Paper - 1V)
Time : 3 Hours] [Max. Marks : 50
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q1) What is mean by copyright? Explain the procedure of application for
Registration of Copyright Act as per section 44 to 55. [14]

OR

State provisions regarding offences and Penalties as per Law relating to
Protection of New Protection of Plant Varieties and Farmers Rights Act, 2001.

02) Sate the provision of Design Act,2000 with reference of Piracy of Registered
Design and its remedies. [14]

OR

Explain the term ‘Geographical Indications’ Who may apply for Registration
of Geographical Indications? State the procedure for and duration of
Registration of Geographical Indications.

03) a) What are the provisions regarding ‘Offence and Penalties’ as per

Copyright Act. [7]
b) Define the term ‘New Plant Varieties’ State the scope of the Plant Varieties
and Farmers Rights Act, 2001. [7]
OR
a) Explain copyright in Registered Designs as per section 11 to 20 of the
Designs Act 2000.

b) State Infringement and its Remedies as per section 20 to 24 under
Geographical Indications of Goods 1999.

PTO.



04) Write short notes on: (Any two) [8]
a) International Copyright.
b) Conditions for a Registerable Design.

c) Regulatory Authorities under the Geographical Indications of Goods
Act 1999.

d) Surrender and Revocation of Certificate under Protection of Plant
Varieties and Farmers Rights Act, 2001.

SISIS
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P3536 [4764] - 2013
M.Com. (Part - I) (Semester - II)
COMMERCIAL LAWS AND PRACTICES
Law Relating to Copyright and Designs

(2013 Pattern) (Credit System) (Special Paper - 1V)
(ATt TUTAR)

9% ; 3 | [wegot 701 : 50
ot ;1) HE WY A .

2) STETRETA 3Tk TS YUT T gEIfaATd.

3) EEWTETE! U FUSH TgUNehT UgTal.

Ty7 1) HUNTUhR TEUTS T ? GEUMTARRIETST AgUil ShvaTeal Usgd i shiagaTd il
He™ 3. 44 9 55 TUTOT FUH . [14]

feRan

AT T ATIT IAeh=aTa goFeh TR&T0T BT, 2001 i ‘U™ T6&y 9
foren’ o TudiauT .

¥y7 2) Uil FHeledl ARTESATAT SgaAEedd (TMRRR) RrEer wer. 2000

T TGN TS /A I FTae U 9. [14]
feRan

‘emiferer foeg’ T a3t Tuse . WimmifoTes fRegraTdt S/ivTeT a1t ¥t aat ?

TrQUit=i geadt o ShreAraelt I Arfgd’ =m.

gy7 3) 3) UZUNTUHR FECAIAR ST @&y F f¥1en’ = wosdienton &1, [7]
)  qUTET T AT g SR 9F, Ui Y 9 aeard gk
TeTur wrEet, 2001 < TR e . [7]

feRan

) RrEET swrEet 2000 it weAd . 11 o 20 THTUE Figuiichetean HIcTehTa
gk T,

q) " WhTiterer foreg wrEer, 1999 siaiia et . 20§ 24 THI0 Seerad
T T IAT™ TUSE .



gy 4) few forr. (wvorerdl E9) 8]
) TANTIIeh HEUTTTEhR
) QU AT FRRESATAT It
®) T HiTiToe Taeg wrEen, 1999 st e Hew (SieeRtun)

T) Y I ATV Vaeh—are gk TR0 whret, 2001 THAR JHIOTIATE g
@ & 9 U Ul

SISIS

[4764] - 2013 4
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P3537

[Total No. of Pages : 3
[4764] - 2014

M.Com. (Semester - II)
ADVANCED COST ACCOUNTING & COST SYSTEMS
Cost Control and Cost System (Special Paper -1V)
(Group - B) (2013 Pattern) (Credit System)

Time : 3 Hours] [Max. Marks : 50
Instructions to the candidates:

1) Attempt all questions.

2) Figures to the right indicate full marks.

3)  Use of calculator is allowed.

Q1) a) The following costs and sales of a manufacturing company for the
first half and second half of 2012 - 2013 are given : [11]
First half Second half
) )
Sales 24,00,000 30,00,000
Total cost 21,80,000 26,00,000

You are asked to determine.

i)  Contribution / sales ratio of the firm
i)  Annual fixed cost

iii) BEP

iv) MOS as percentage of sales

b)  Write a note on differential cost Analysis [3]
OR
The following figures relating to the performance of a Co.
(%)
Selling price 20 per unit
Variable Mfg. Cost "
Variable selling costs 03 " "
Fixed factory OHS 5,40,000 p.a.
Fixed selling cost 2,52,000 p.a.

You are required to compute.
i)  BEP expressed in amount of sales in rupees.
i)  Number of units that must be sold to. earn a profit of X. 60,000 p.a.

i) How many units must be sold to earn a net income of 10% of
sales?

PTO.



02)

03)

[4764] - 2014

A manufacturer has planned his level of production at 50% of his capacity of
30,000 units at 50% of the capacity, his expenses are as follows :

4
Direct Labour 11,160
Direct Materials 8,260
Variable Overheads mfg. OHS 3,960
Total fixed expenses 6,000

The home selling price is . 2 per unit. Now, the manufacture receives a trade
enquiry from oversease for 6,000 units at a price of . 1.45 per unit. If you
were the manufacturer, would you accept or reject the offer? Support your

statement with suitable cost and profit details. [14]

OR
Due to industrial depression, a plant is running at present at 50% of its capacity.
The following details are available.

Cost of production per unit 3
Direct Materials 2.00
Direct labour 1.00
Variable overheads 3.00
Fixed overheads 2.00
Total cost 8.00

Production per month 20,000 units

Total cost of production %.1,60,000

Sales price %.1,40,000

Loss 20,000

An exporter offers to buy 5,000 units per month at the rate of ¥.6.50 per unit
and the company hesitates to accept the offer fearing increase of further

operating losses advise, whether the company should accept on decline this
offer.

Explain the nature and scope of cost reduction. [14]
OR

You have been asked to install a costing system in a manufacturing business.
What practical difficulties would you expect & how do you propose to
overcome them?



04) Write short notes (Any TWO) [8]
a) Just-in-time (JIT)
b) Activity based costing
c) Valueanalysis

d) Pricing policy

SISIS
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Total No. of Questions : 4] SEAT No.

P3538 [Total No. of Pages : 4
[4764]-2015
M.Com. (Part - I) (Semester - II)
CO-OPERATION AND RURALDEVELOPMENT

Management of Co-Operative Business (Special Paper-1V)

(2013 Pattern)
Time : 3 Hours] [Maximum Marks :50

Instructions to the candidates :
1) All questions are compulsory.
2)  Figures to the right indicate full marks.

Q1) Discuss the problems related to Economic and commercial viability of Co-
operative Business. [14]
OR

Describe the criteria for appraising performance of Co-operative Business.

02) Explain the policies and practices of Dairy Co-operatives. [14]
OR

Describe the role of District Co-operative Banks in agricultural development
of the state.

03) Explain success story of Warana Co-operative Organisation, Warananagar.|14]
OR

Explain the role of Anand Dairy in the development of Co-operative Movement
in Gujarat State.

PTO.



04) Write short notes (Any Two) : [8]
a) Primary Agricultural Credit Societies.
b) Sugar Co-operatives in Maharashtra.
c) Shamrao Vitthal Co-operative Bank.

d) Non-agricultural Credit Co-operative.

[4764] - 2015 -2-
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P3538

[4764]-2015
M.Com. (Part - I) (Semester - II)
CO-OPERATION AND RURALDEVELOPMENT
Management of Co-Operative Business (Special Paper-1V)
(2013 Pattern)

(A3 ®UTAR)
g : 3 @@ | [ Tz 7o £ 50

gaar : 1) @ gv7 ravas Higd.
2) IAFIHSIT A%k TPAIE GO U7 FAard.

g7 1) wgwll saErEh wefia snfiiw snfor et wermafaweht auweh ==t
. [14]

feren

TEHN TAEATTAT KNG HeaWTIATR AT JTuRuara Aum=an wEtesi< ==t
HU.

Ty7 2) T AR HEATE SO S0 AT wrEusad v w1 [14]
feran



gy7 3) ARUN WEhT T¥e IRUMTTR genmen fave w0, [14]
feRan

TSR TS el Teacieal faREmeie s Heehtt g S fHen
T AT

o7 4) Tem fog. (FKio@d dF) [8]
A) WufHE FH daEEAl.
) WERTETHA Tghil Orer e,
%) vma fagga wewT a9,

g) fom - &dt ud s
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Total No. of Questions : 4] SEAT No. :
P3539

[Total No. of Pages : 2
[4764] - 2016
M.Com. (Semester - II)
BUSINESS PRACTICESAND ENVIRONMENT (Special Paper -1V)
212 : Business Environment Analysis (Group - C)
(2013 Pattern)

Time : 3 Hours] [Max. Marks : 50
Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) State the importance of foreign investment and foreign technology. Explain
the role of 'MINC' in development of nation. [14]
OR
What is 'Industrial Environment'? Explain the performance made by public &
private sector in India.

02) Whatis financial Environment of Business? Explain the role of Money Market?[14]
OR
a) Explain the functions of security market
b) Explain the role of co-operative bank in financial environment of Business.

03) What is Environmental Analysis? Explain the techniques of Analysis.  [14]
OR
a)  Write note on - Reliance group of industries.
b)  Write note on Bhavarlal Jain

04) Write short notes on: (Any two) [8]
a) Impact of natural Enviornment on world trade.
b) Importance of study of Global Environment.
c) Capital market
d) Role of small & cottage industries.

SISIS

PTO.
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[4764] - 2016
M.Com. (Semester - II)

BUSINESS PRACTICESAND ENVIRONMENT (Special Paper - 1V)

212 : Business Environment Analysis (Group - C)
(2013 Pattern)
(ATt TUTAR)

9% ; 3 | [wegot 701 : 50

AT

1) Td U9 ATEE AR,
2) ITETRIIA 3 TUT GUITATd.

o7 1)

37 4)

Weha AU ATUT WRIehd TAAHTT HEged a9rg e ouTrean faerramesa

T Ut e waee &1, (Role of MNC) [14]
feran

Stenfirer UATaRuT TgUR hTd ? WRATA ST ATeSIeh TTTUT WIS &5 heted

HURRE FUE .

HauTaT fafta gaierur o s ? amed ArETRTE Yitent T . [14]
feRan

ar) wfaydiean ararus=t (Security Market) @& Tuse &1,

) cgaEETeT fafta daieRumHe TEeil STl YT Tt T.

“TataRuT fageNuT U T ? U=iaRuT faveuTeat vegdt wuse . [14]
e

) ™| YU o1Th SSea o Wirgdl forgr.

¥) WaATA A9 I At forg.

offgeaTa feut forer. (shiureardt 3F) [8]
1) Jafiter YATERUTT ARTOeh SATARIEY TSUTRT THTS

q) WNTdeh YATSRUTTRAT ITET HEed

®) WETA AR

g) ofg MiuT HeER STW YfHent
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P3540

[Total No. of Pages : 2
[4764] - 2017

M.Com. (Semester - II)
BUSINESS ADMINISTRATION
Elements of Knowledge Management
(2013 Pattern) (Credit System) (Special Paper - 1V)

Time : 3 Hours] [Max. Marks : 50
Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicates full marks.

Q1) What do you mean by Knowledge Management? Differentiate between Data,

Information, Knowledge and Wisdom. [14]
OR

What is Organisational Learning? What are the different levels of Organisational

learning?

02) What is Change Management? How to implement the Change Management?
Explain. [14]
OR
Explain the Concept of Knowledge Sharing. What are the Strategies for
overcoming Obstacles in Knowledge Sharing?

03) a) Write a note on Reward and Recognition. [7]
OR
b)  Write anote on Unlearning.

c) Write a note on Information Distribution. [7]
OR
d) Write a note on Artifacts and symbols.

04) Short notes: (any two) [8]
a) Politics in Change.
b)  Organisational Culture.
c) Knowledge Acquisition.
d) Individual Learning.

SISIS
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[4764] - 2017
M.Com. (Semester - II)

JqqIara aIad
TH SAIEATIATE T Teraed
(2013 Pattern) (Credit System) (Special Paper - 1V)
(A3t TUTAR)

9% ; 3 | [wegot 701 : 50
AT

1) & ST S T ST,

2) @d Uy AfAEmE AT,
gy7 1) T TEGEATA TGN *d o WA, T, Wiigel, T A1 =rae Tl Bk

37 4)

TS H. [14]
feRan
HUEATHR TITLIUT TEUTH h1 ? HHSATCHeR TITIUTT=l I /Ueadl TIe &hdl.

TEA SITEATIT TEUTS 1T ? TGl STALATIT THHT Shedl ATl o TISE . [14]
e

FH FEHIAET § HheUAT TU hed, Tl SIEladT waET fHaior gom

ATYUSD TACE .

) YEEHR AT WAt AR € Torg. [7]
feman
F)  Torerom forama freror St arer Au forer.

®) wifgdre arevft arer A forer. [7]
e
) SUESY AAFH SATUT Ueteh TR 219 forgr.

feur forer. (Srorad Sm) [8]
1) UfEdATdre TSTeRtuT

2 S

&) AT UTH

g) Suftee freror
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P3541

[Total No. of Pages : 2
[4764] - 2018
M.Com. (Semester - II)
ADVANCED BANKING AND FINANCE
Monetary Policy
(2013 Pattern) (Credit System) (Group - G) (Special Paper - 1V)

Time : 3 Hours] [Max. Marks : 50
Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) Explain concept of ‘Money Supply’. How is Money Supply measured by
Reserve Bank of India? [14]

OR
Explain the recommendations of Working Group on Money Supply (1998).

02) Discuss the mechanism and effectiveness of Open Market Operations and
Bank Rate as instruments of monetary policy. [14]

OR
Discuss the objectives of Monetary Policy.

03) a) What is Pre -shipment credit and post-shipment credit. [7]
b) Explain the concept of High powered money. [7]
OR

a) Explain the role of Reserve Bank of India in Industrial Finance.

b) Distinguish between quantitative and qualitative instruments of monetary
policy.

04) Write notes (any two) : [8]
a) Regional Rural Banks.
b) Variable Reserve Ratio.
c¢) Monetary Management.
d) Recent Monetary Policy of Reserve Bank of India.

SISIS

PTO.
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[4764] - 2018
M.Com. (Semester - II)
ADVANCED BANKING AND FINANCE
Monetary Policy

(2013 Pattern) (Credit System) (Group - G) (Special Paper-1V)

(A3t wataR)

9% : 3 | [wegur 7701 @ 50
AT
1) W& I AEE oTa.
2) STAIHE 3k YUT IUT geiferaTa.
3) wewtETd! USH Uyauleht ugrel.
o7 1) ToTreat YRESATE HeheudT Tt T, R igreg ok Iomren yiast wynmusn
T ? [14]
feRan
Jomreat YRasATae shreersat (1998) Rremeft wuse .
T97 2) OoHiauh SRUT 918 TEUE Yol STTRTA e teai Tl —fosh 9 o 31
I HTE T URUTH HRB< <l . [14]
feRan
TAATIITR SUTT=AT 3feser=il =<l hdl.
go7 3) a1) fubdiie e a ure - Hute wite wus s @ ? [7]
) I VT TUITEA HeheddT TUE . [7]
feRan
)  SAtEiiTeh ToTasaTdiel TETeg Scheil qiHehT TUTE T
q) TAHTANAE SRUMAT HEATHE & TUITCHSE AT e |,
gy7 4) Tt frgt. (Horerdt ) [8]

ar) et ymfiur SeRt

) wEddr qEE [t

®) T ST

g) AfTHSA AeAfauTeh SR (YR fgreg sfeheit)
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P3542

[Total No. of Pages : 2
[4764] - 2019

M.Com. (Semester - II)
ADVANCED MARKETING
Services Marketing
(2013 Pattern) (Credit System)(Group - H) (Special Paper-1V)
Time : 3 Hours] [Max. Marks : 50
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q1) What do you mean by 'services'? Explain various characteristics of services.[14]
OR
How customer behaviour can be understood at different points in the service
experience.

02) Explain in detail the concept 'Product Mix and Services Marketing. [14]
OR

Explain the concept of people in services marketing with its role.

03) a) What is 'Service Leadership' Explain its objectives & approaches. [7]

OR
b) What is 'Market Research'? Explain the role of market research in
understanding & listening to customers. [7]

c) Describe the customer issues or problems in Hospitality industry.  [7]

OR
d) Whatare the Recent service initiatives taken by Banking industry to serve
customers. 7]
Q4) Write short notes: (any two) [8]

a) Difference between goods & services.

b) Problems in customer expectations.

c) Financial and economic Impact of service.

d) Customer service initiatives by aviation sector.

SISIS

PTO.
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P3542

[4764] - 2019
M.Com. (Semester - II)
ADVANCED MARKETING
Services Marketing

(2013 Pattern) (Credit System)(Group - H) (Special Paper -1V)

(A3t wataR)

9% ; 3 | [wegot 701 : 50
AT
1) W Uy AUl savaes ITg.
2) STETRETA 37k TS YUT T g,
3) WU qo SUS geAdiyeT agre.
gy7 1) ‘HEr WRUN &M@ ? Al fafay AT e & [14]
e
AT ATHATA ATEHTEAT TaATA A Fge [T eI ohid THSA JaTd ?
yy7 2) ‘Scurga Ty’ emfor e ‘fouu’ € d@eheut Afoea TUte . [14]
e
T fUuTHTATe Sk EF HehoddT Tt T Tl 9a faquATd e Yo fawg
.
gy7 3) ) ‘AT YA TEUN A ? HAT AgeaTHl I AT gETehA Tuee |7
e
¥) SR AN T T ? SR SINEAT UTgeh 3Tehet SATIUT SIEUTTe et
fireRT Fave . [7]
%) UTEUMER HAT ITNTCAT ATghieal AHEITER <l ol [7]
Teman
) UTEh=AT UAATS! TR SATHTRA T IeheTel hiosTd Efael SITUTR AT
o SushA hIUTd ? [7]
37 4) orsema feur forgr. (vt gF) [8]

H) qEQ T G ATAEf A T

q) g e wHE

&) war fat snfor snfde ufom

T) TATE ATEdeh ST UaaeiedT UTgeh higd wdl
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P3543 [Total No. of Pages : 4
[4764] - 3001

M.Com. (Semester - III)
BUSINESS FINANCE

(2013 Pattern)
Time : 3 Hours] [Max. Marks : 50

Instructions to the candidates :
1) All questions are compulsory.

2)  Figures in the brackets indicate marks.

Q1) Explain the meaning of ‘Business Finance’ explain objectives and importance
of Business Finance. [14]

OR

Define the term “Time Value of Money” and “Present Value of Money”. Explain
the importance of time value of Money.

02) What is the strategic financial planning? Explain objectives and steps of strategic
Financial Planning. [14]

OR

What is over capitalisation? State the causes and effects of over capitalisation.

03) a) Describes in details the characteristics and advantages of equity shares.
[7]

b) What is a preference share? Explain characteristics and advantages of
Preference share. [7]

OR
c) What is meant by Debenture? Describe in detail the characteristics.

d) What is ‘short - term Finance’? Explain characteristics of short-term
Finance.

PTO



04) Write short notes on (Any Two): [8]
a) Scope of business Finance.
b) Causes of under Capitalisation.

c) Advantages of working capital.

d) Background of Dividend Policy.

[4764] - 3001 2
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P3543
[4764] - 3001
M.Com. (Semester - III)
BUSINESS FINANCE
(2013 Pattern)
(TS T UTR)
gez : 3 ard| [T 7797 : 50

geAT -~ 1) @ 97 qislav JEavas Hig.
2) HEIAIT STHS YOI FIIFAT.
3) Hewlard? e 3UA TeTaEET g,

g7 l)  cEwEek foryveet FEut s ? sawten forgresse SeE @ Heve Te . [14]
feman
YUTT! T T o UTTT! T el AT SR i, Y9I THe Yodre! Hewe I8 .

Tp72) AT o e s w7 gt faxia e sede st
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e
HAINTSTIRIUT U hiA ? IATAHTSAATRIUTRN ShI0l & TRUTH E.

gg73) ) T URTE SR 9 e SieRaryul Suid . [7]
d) ITIEHR VR U hid ? TR WIT Sf9ERl 9 Wi ¥U8 1. [7]
e

®) HoRRE TEUTS T ? heRIGATE! ATl qUTH .
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P3544 [Total No. of Pages : 4
[4764] - 3002

M.Com. (Semester - III)
RESEARCH METHODOLOGY FOR BUSINESS

(2013 Pattern) (Compulsory) (Credit System)
Time : 3 Hours] [Max. Marks : 50

Instructions to the candidates :
1) All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) What is ‘Research’? Explain in detail the steps in Research. [14]

OR

Define the term ‘Sampling’. Explain in detail the various types of Sampling.

02) What is Measurement and Scaling? Explain the types of Measurement &
Scaling. [14]

OR

Explain in detail the structure of Research Report.

03) a) Explain the need & objectives of Business Research. [7]
OR

b) Explain the steps in Research Design.
c) Describe the sources of Primary Data Collection. [7]

OR

d) Whatis ‘Foot note’? Explain the reasons for giving footnotes.

PTO



04) Write short notes (Any Two): [8]
a) Types of Research.
b) Importance of hypothesis.
c) Processing of data.

d) Importance of Research Report.

[4764] - 3002 2
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P3544
[4764] - 3002

M.Com. (Semester - III)
RESEARCH METHODOLOGY FOR BUSINESS
(2013 Pattern) (Compulsory) (Credit System)

(AT TATR)

gez : 3 ] 75T 797 : 50

e .~ 1) G 97 q@islavl Sravasd g
2) ITHIESIT FHF TvATE GOl JOT FIHAATA.
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Total No. of Questions : 4] SEAT No. :
P3545

[Total No. of Pages : 1
[4764] - 3003

M.Com. (Part - IT) (Semester - II1)
ADVANCED ACCOUNTINGAND TAXATION
Advanced Auditing (Special Paper - V)
(2013 Pattern) (Credit System)

Time : 3 Hours] [Max. Marks : 50
Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) Define and explain the term 'Auditing' [14]
OR
Elaborate basic principles of an Audit and explain important aspects to be
covered in an "Audit Programme".
02) What do you understand by 'Audit' standard? [14]
Elaborate role of International and Assurance standard Board.

OR

Write notes on Divisible profit of a company.

03) Define internal control. Explain its objectives and limitations. [14]
OR

Explain uses of computers for Auditing purposes.

04) Write notes (any two) [8]
a) Corporate governance
b) Powers of Audit commitee
c) TaxAudit
d) Cost Audit

SISIS



Total No. of Questions : 4] SEAT No. :
P3546

[Total No. of Pages : 2
[4764] - 3004

M.Com. (Part - IT) (Semester - II1)
COMMERCIAL LAWS AND PRACTICES (Paper-YV)
Laws Relating to International Business (Group - E)
(2014 Pattern)

Time : 3 Hours] [Max. Marks : 50
Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) State the scope of International law. Distinguish between Public International
Law and Private International Law. [14]
OR
Explain the origin and nature of International Trade.

02) Explain the Environment assessment under the Indian Environment Protection
Act. [14]
OR
Write a detailed note on Enforcement of foreign awards in India.

03) a) Explain the charter on economic rights and duties of state. [7]
b) Explain David Ricardo’s Comparative Cost theory. [7]
OR

Explain the provisions regarding Exports under India’s foreign trade.
Explain the Jurisdiction of International court.

04) Write detailed notes on: (Any two) [8]
a) Codification of International Law.
b) Non-tariff Barriers
c) Clean development mechanism
d) Arbitration and Conciliation

SISIS
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[4764] - 3004
M.Com. (Part - IT) (Semester - III)

COMMERCIAL LAWS AND PRACTICES (Paper-V)

Laws Relating to International Business (Group - E)
(2014 Pattern)
(ATt TUTAR)

9% ;3 a| [wegot 701 : 50
AT
1) Td U9 ATEE AR,
2) STETHEA 3k TUT FIIfTa.
3) wEWEE! Yo IS UvAdRT ugTed.
o7 1) SIARTSEE HIEETH SATH A, QAW ATAWE D 1T AT WIS
STARTET HTAGT ATHENA Tk TS . [14]
e
SATAWTE I SATIRT=AT Ieawit (origin) AT TIET (nature) T .
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e
o7 3) 1) TSA AT SATURR STivT hded ITeier Tg TS . [7]
) e FEan garTHs @ fasgia wose &4 [7]
e
WRATEAT UTehia SATaRISTad el Henidre fafay Tt Tase w.
ATARTE T TS HRTITeTeh HIAST TUSE .
gy74) wiaER z'\m forgn. (wrureTgd gF) [8]

E) oMMy 3fug shifAfeTey (Arbitration and Conciliation)
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P3547

[Total No. of Pages : 2
[4764] - 3005

M.Com. (Part - IT) (Semester - II1)
COST AUDIT
Advanced Cost Accounting & Cost Systems
(2013 Pattern) (Credit System) (Special Paper -V)

Time : 3 Hours] [Max. Marks : 50
Instructions to the candidates:

1) Attempt all questions.

2) Figures to the right indicate marks allotted to the respective question.

Q1) What is meant by the term ‘Efficiency Audit’? In what way Cost Audit is
treated as an audit of resource utilisation? [14]
OR
Explain in brief the following concepts
i)  Social Audit i) Systems Audit.

02) A company is engaged in manufacturing of special type of surface coating chemical
for which it requires two types of materials — Material A and Material B.
One Barrel of a Final Product requires the following inputs: [14]
a) Material Cost:
Material A 50 kilograms to be purchased at Rs.2, 500 per kg.
Material B 25 kilograms to be purchased at Rs. 1,500 per kg.
b)  Processing Charges (LLabour and Overheads) are 200% of the total material cost.
c) Administrative Overheads are recovered at 10% of Works Cost
d) The Cost of Finance is estimated at 20% of the Works Cost.
e) Gross Margin on the Cost of Production is 40%
Note: Ignore Selling & Distribution Overheads.
Prepare Quotation to be submitted to the Marketing Division showing the
break-up of cost per barrel into the following elements:
a) Material Cost
b) Works Cost
c) Cost of Production
d) Expected price to be inclusive of Gross Margin

PTO.



OR

The Cost Books of M/s Vinayak Enterprises for the year show a profit

0f' Rs.50,255/- The profit disclosed by the Financial Accounting Record

for the same period was Rs.31,200/- From the following information
prepare Reconciliation Statement:

a) Income Tax paid Rs.15,000/- recorded in Financial Accounts.

b) Bad Debts recorded only in Financial Accounts Rs.2,000/-

c) Factory Overheads recovered in Cost Accounts were Rs.15,000/-
as against actual amount recorded in Financial Accounts was
Rs.12,255/-

d) Transfer Fees Received Rs.1,200/-

e) Rs.1,000/- paid as Director’s Fees

f) Plant Costing Rs.50,000/- was installed but not yet used.
Depreciation @10% was charged in Financial Accounting Books

only.
03) a)  Write the provisions regarding Rights and Duties of Cost Auditor. [7]

b)  Write the provisions regarding Liabilities of Cost Auditor. [7]

OR

a) Explain the term ‘Cost Record’. List the record maintained in the cost
accounting division of any organisation of your choice.

b) What is meant by the term Cost Audit Programme? You have newly
appointed a Cost Assistant in your firm. Make a sheet useful to him
providing guidelines to be followed during Inventory Audit.

04) Write short notes (Any TWO) [8]

a) Qualifications in Cost Audit Report

b) Documents to be verified in vouching of Captive Consumption

c) Scope of Cost Audit

d) Efficiency Audit

[4764] - 3005
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Total No. of Questions : 4] SEAT No. :
P3548

[Total No. of Pages : 2
[4764] - 3006

M.Com. (Semester - I1I)
CO-OPERATION AND RURALDEVELOPMENT
Co-Operative Credit System
(2013 Pattern)

Time : 3 Hours] [Max. Marks : 50
Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) a) What is credit? State the importance of Agricultural credit. [14]
OR

b) Describe the limitations of Institutional credit for Agriculture.

02) a) Explain the structure of credit co-operatives. [14]
OR
b) Describe the problems and their solutions of long term Agricultural credit.

03) Explain the role of Nationalised banks in Agricultural credit. [14]
OR

State the progress and problems of primary Agricultural co-operative societies.

04) Write short notes on: (Any two) [8]
a) Features of Agricultural credit

b) District central co-operative Banks
c) Kisan credit card

d) Crop loan system

SISIS

PTO.



Total No. of Questions : 4]

P3548
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[4764] - 3006
M.Com. (Semester - I1I)
CO-OPERATIONAND RURALDEVELOPMENT
Co-Operative Credit System

(2013 Pattern)
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Total No. of Questions : 4] SEAT No. :
P3549

[Total No. of Pages : 2
[4764] - 3007
M.Com. (Part - IT) (Semester - II1)
BUSINESS PRACTICES AND ENVIRONMENT
Entrepreneurial Behaviour (Special Paper - V)
(2013 Pattern)

Time : 3 Hours] [Max. Marks : 50
Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) What do you mean by 'entrepreneurship training'? Explain its components.[14]
OR
Explain the term 'achievement motivation'. Briefly discuss the sources of
achievement motivation.

02) What are the problems involved in entrepreneurship development? [14]
OR
Write a detailed note on 'Post training support'.

03) What are the skills and qualifications required for motivator? [14]
OR
Narrate the scope for entrepreneurship in service sector.

04) Write short notes on. (any two) [8]
a) Importance of entrepreneurship training
b) Business opportunity guidance
c) Market survey tools
d) Behavioural tests

SISIS

PTO.



Total No. of Questions : 4]

P3549 [4764] - 3007
M.Com. (Part - IT) (Semester - III)
BUSINESS PRACTICESAND ENVIRONMENT
Entrepreneurial Behaviour (Special Paper - V)

(2013 Pattern)
(ATt TUTAR)

9% ; 3 | [wegot 701 : 50
AT
1) @& 9y Arefau sravae ITTE.
2) STAIHE 3k YUT IUT geiferaTa.
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Total No. of Questions : 4] SEAT No. :
P3550

[Total No. of Pages : 2
[4764] - 3008

M.Com. (Part - IT) (Semester - II1)
BUSINESS ADMINISTRATION
Human Resource Management (Paper - V)
(2013 Pattern) (Credit System)
Time : 3 Hours] [Max. Marks : 50
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q1) Describe the challenges of tomorrow faced by 'Human Resource Management'.[14]

OR
Define the term 'Manpower planning'. Explain the process of manpower
planning.
02) Discuss various methods of training. [14]
OR

What is 'Performance Appraisal?' Discuss the errors and ethics in performance
Appraisal.

03) a) Describe 'internal sources' of Recruitment. [7]
b) Define 'Merit Rating'. What are the advantages and limitations of merit
Rating? (7]

OR

a) Explain promotions, transfers and job rotation.
b) What are the various kinds of retirement?

Q4) Write Short Notes on (Any Two) [8]
a) Succession planning
b) Evaluation of training programme
c) Suspension and Lay off
d) Bench marking

SISIS

PTO.



Total No. of Questions : 4]

P3550 [4764] - 3008
M.Com. (Part - IT) (Semester - III)
AT I9mEd (U9 — V)
TS HETHA STaETuT
(2013 Pattern) (Credit System)
(ATt TUTAR)
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Total No. of Questions : 4] SEAT No. :
P3551

[Total No. of Pages : 2
[4764] - 3009

M.Com. (Semester - I1I)
ADVANCED BANKING & FINANCE
Foreign Exchange
(2013 Pattern) (Group - G) (Special Paper - V)

Time : 3 Hours] [Max. Marks : 50
Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) Explain the working of Currency Futures and Options market? [14]
OR
Elaborate on the FEMA 2000 act. What are its objectives?

02) What is the meaning of a Non Resident? What are the features of a NRE and
NRO account? [14]
OR
What is post shipment finance? Elaborate on its purpose?

03) What is a letter of credit? Explain the meaning of- [14]
a) Back to back credit
b) Revolving letter of credit
c) Anticipatory letter of credit.

OR
Explain in detail the structure and working of the Indian foreign exchange
market.
Q4) Write short notes on (any two) [8]

a) Pre Shipment Credit

b) Hedging in forward market
c) NRNR account.

d) Dealing rooms

SISIS

PTO.
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P3551

[4764] - 3009
TH.HIA. (Semester - I11)
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Total No. of Questions : 4] SEAT No. :
P3552

[Total No. of Pages : 2
[4764] - 3010

M.Com. (Part - IT) (Semester - II1)
ADVANCED MARKETING (Special Paper - V)
International Marketing
(2013 Pattern) (Credit System)

Time : 3 Hours] [Max. Marks : 50
Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) a) What do you mean by International Marketing? Describe its scope and
objectives. [14]

OR
b) Describe challenges and opportunities in International Marketing. [14]

02) a) Explain the various macro factors affecting International Market. [14]

OR
b) Explain various facilities related to export business. [14]
03) a) What are the objectives of export pricing? [7]
OR
b) State the reasons for entry in International Marketing. [7]
And
c) Describe in brief International Distribution system. [7]
OR
d) Write a note on W.T.O. (World Trade Organisation). [7]
04) Write short notes on: (Any two) [8]

a) Latter of credit

b) Marine Insurance

c) Role of EXIM Bank in International Marketing

d) Financial Incentives provided by the Government for Export Business

SISIS

PTO.



Total No. of Questions : 4]

P3552

[4764] - 3010
M.Com. (Part - IT) (Semester - III)
ADVANCED MARKETING (Special Paper-V)
International Marketing

(2013 Pattern) (Credit System)
(ATt TUTAR)

9% ; 3 | [wegot 701 : 50

AT

1) W U9 S TR,
2) STAIHE 3k YUT IUT geiferaTa.

o7 1)

37 4)

HTAWT T FgUTS i ? STARTE TIUUTAT=IT SATHT SATfoT 3291 foreg ahur. [14]
e
AT fagurAmeiier arreg entfur weft == Ui .

ATAWEET ATTRUST TRUTTH THIUTR T THUAAL Teeh TaeE . [14]
feRan
Tt smurETet st fafay g wose .

o) Taia fhaa Faiomer 2w woe ? [7]
e

) AR fuummed g vt sEedt fafaa wror wm. (7]
aTfoT

®) SAAWET FEN (Aol Saaed™ quiq . [7]
e

) ‘TN SAUR TEedr arer v forer. [7]

oftgeaTa feut forer. (shiureardt 3F) [8]

H) UauA

¥) @Rt famn

®) AT fauummeiter Tastie ekl qiteht
g) frafa aurmEE Seregd QR Ao enfded gy

SISIS



Total No. of Questions : 4] SEAT No. :

P3553 [Total No. of Pages : 1

[4764] - 3011
M.Com. (Semester - I1I)
ADVANCED ACCOUNTING AND TAXATION

Specialised Areas in Auditing

(2013 Pattern) (Group - A) (Special Paper - VI)
Time : 3 Hours] [Max. Marks : 50
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q1) Distinguish between Internal Audit and Internal Control. [14]
OR

What are the special points to be kept in view while conducting the Audit of
Banks?

02) Explain salient features of Audit of Co-operative Housing societies. [14]
OR
Describe the salient features of Audit of Educational Institutions.

03) a) State the special features of Audit of Hospital. [7]
OR
State the objects of Audit of Public Sector Undertaking.
b) Describe the Internal Audit Reports. [7]
OR

State the role of Public Accounts Committee.

04) Write short notes (Any Two) : [8]
a) Audit procedure.
b) Areas of Internal Audit.

c) Audit of Salary earners co-operative society.
d) Audit of club.

OO0



Total No. of Questions : 4] SEAT No. -

P3554 [Total No. of Pages : 4
[4764]-3012
M.Com. (Semester - 111)
COMMERCIAL LAWS AND PRACTICES
World Trade Organisation-Norms and Practices
(2013 Pattern) (Credit System) (Special Paper - VI)

Time : 3 Hours] [Max. Marks : 50
Instructions to the candidates:

1)  All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Explain the basic principles of WTO Trading system. What are the objectives
and functions of WTO? [14]

OR

Explain the special provisions relating to cinematograph films (Art-1V) and
freedom of transit as per GATT (Art-V).

Q2) What do you know about WTO accession? State the current status of individual
accession. [14]

OR

Explain the procedure of WTO related to dispute settlement system.

03) a) Schedule of Concessions (Art- 1) as per GATT 1994. [7]
b) Explain the General Agreement on Trade in Service (GATS). [7]
OR

a)  Write note on Havana Charter for International Trade Organization.

b) Discuss the role of developing countries and WTO.

PTO.



04) Short Notes (Any Two) : [8]
a) Historical overview of GATT.
b) Structure of WTO.

c) International trade and human rights.

d) Anti-dumping agreement (Art-VI) as per GATT 1994.

OO NN
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Total No. of Questions : 4]

P3554
[4764]-3012
M.Com. (Semester - 111)
COMMERCIAL LAWS AND PRACTICES
World Trade Organisation-Norms and Practices
(2013 Pattern) (Credit System) (Special Paper - VI)
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Total No. of Questions : 4] SEAT No. :

P3555 [Total No. of Pages : 1

[4764] - 3013
M.Com. (Part - IT) (Semester - I11)
ADVANCED COST ACCOUNTING AND COST SYSTEM
Management Audit (CBCS)
(2013 Pattern) (Sepcial Paper - VI)

Time : 3 Hours] [Max. Marks : 50
Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) Explain the term ‘Management Audit’. State the salient features of Management
Audit and its scope in light of globalisation. [14]
OR
State the preliminaries and essentials of Management Audit.

02) What do you understand by the term Corporate Image? State the factors
responsible to build good corporate image. [14]
OR
‘Performance Evaluation Technique (PERT) and Critical Path Method (CPM)
are essential for cost control in competitive environment. Do you agree? Discuss

in detail’.
03) a) Whatis cost Benefit Analysis? [7]
b) Write a note on evaluation of personnel development. [7]

OR
a) What is corporate culture?
b) State the objectives of operational audit.

04) Write short notes (Any Two) : [8]
a) Research and Development cost.
b) Scope of Financial Audit.
c) Corporate Development Audit.
d) Corporate Service Audit.

OO NN



Total No. of Questions : 4] SEAT No. -

P3556 [Total No. of Pages : 4
[4764]-3014
M.Com. (Semester - 111)
CO-OPERATION AND RURAL DEVELOPMENT
Co-Operatives and Rural Banking System

(Credit System) (Group - D) (Special Paper - VI)

Time : 3 Hours] [Max. Marks : 50
Instructions to the candidates:

1)  All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) State eligibility criterias of crop loan. Explain the procedure of sanction and
disbursement of crop loan. [14]

OR

Explain the present situation of NPA in agriculture credit Co-operatives. What
are its effects on performance of agriculture credit Co-operatives?

Q2) Evaluate the performance of Maharashtra State Co-operative Bank since 2001.
[14]

OR

Discuss the objectives and functions of Maharashtra state Co-operative Banks.

03) a) Explain the procedure of refinance by NABARD to district central Co-
operative Banks. [7]

b) Give a brief account of role of RBI in Co-operative credit. [7]
OR
a) Explain the historical background of establishment of NABARD.

b) State objectives of National Federation of state Co-operative Banks.

PTO.



04) Write short notes on (Any Two) : [8]

a) Functions of National Federation of agriculture and Rural Development
Bank.

b) Functions of NABARD.
c) Funding of RBI to Co-operatives.
d) Organisation of NABARD.

OO NN
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Total No. of Questions : 4]

P3556

[4764]-3014
M.Com. (Semester - 111)

CO-OPERATION AND RURAL DEVELOPMENT

Co-Operatives and Rural Banking System

(Credit System) (Group - D) (Special Paper - VI)
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Total No. of Questions : 4] SEAT No. -

P3557 [Total No. of Pages : 4
[4764]-3015
M.Com. (Part - Il) (Semester - I11)
BUSINESS PRACTICES AND ENVIRONMENT
Entrepreneurship Development Pattern
(2013 Pattern) (Special Paper - VI)

Time : 3 Hours] [Max. Marks : 50
Instructions to the candidates:

1)  All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) State the role of government in entrepreneurship development [14]
OR

Explain the problems of entrepreneurship development in India.

Q2) State the importance of specialised institutions in entrepreneurship development.

[14]
OR
Explain the role of “critical path method’ in developing new business.
03) a) State the ‘emerging trends’ in entrepreneurship development. [7]
b) Explain the importance of preparation of business plan [7]

OR
a) State the important issues in project management.

b) State the importance of ‘project evaluation review technique’.

PTO.



04) Write notes (Any Two) : [8]
a) Entrepreneurship within organisation.
b) Project direction.

c) Science technology and entrepreneurship development.

d) Project cost evaluation.

OO NN
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Total No. of Questions : 4]

P3557
[4764]-3015

M.Com. (Part - Il) (Semester - 111)
BUSINESS PRACTICES AND ENVIRONMENT
Entrepreneurship Development Pattern
(2013 Pattern) (Special Paper - VI)
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Total No. of Questions : 4] SEAT No. -

P3558 [Total No. of Pages : 4
[4764]-3016
M.Com. (Semester - 111)
BUSINESS ADMINISTRATION
Organisational Behaviour
(2013 Pattern) (Group - D) (Special Paper - VI)

Time : 3 Hours] [Max. Marks : 50
Instructions to the candidates:

1)  All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Whatis organisational behaviour? Explain the goals of organisational behaviour.
[14]

OR

What is organisational culture? State the characteristics of organisational culture.

02) Whatis emotional intelligence? State the importance of emotional intelligence
at work place. [14]

OR

Explain the causes of stress.

03) a) Explain the role of information Technology in organisation. [7]
b) Explain the process of Impression management. [7]
OR

a) Explain the types of motives.
b) Explain the types of conflict.

PTO.



04) Write short notes (Any Two) :

a)
b)
c)
d)

Models of organisational behaviour.
Attributes of personality.
Types of Team.

Job satisfaction.

OO NN

[4764]-3016 2
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Total No. of Questions : 4]

P3558

[4764]-3016
M.Com. (Semester - 111)
BUSINESS ADMINISTRATION
Organisational Behaviour
(2013 Pattern) (Group - D) (Special Paper - VI)
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Total No. of Questions : 4] SEAT No. -

P3559 [Total No. of Pages : 4
[4764]-3017
M.Com. (Semester - 111)
ADVANCED BANKING AND FINANCE
International Finance
(2013 Pattern) (Credit System) (Special Paper - VI) (Group - G)

Time : 3 Hours] [Max. Marks : 50
Instructions to the candidates:

1)  All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) What are the reasons for International Banking? Explain any two types of

International Banking Offices. [14]
OR

What is International Money Market? Explain the development of Euro Dollar

Market.

02) What is International Debt Market? Explain the procedure for issue of Foreign
Bonds, Global Bonds and Euro Bonds in International Debt Market. [14]

OR
Discuss the new exchange rate regime. Explain
a) Floating exchange rate system and

b) Currency pegging.

03) a) Explain the objectives of International Bank for Reconstruction and
Development. [7]

b) Elaborate the operations of Bank for International Settlements. [7]
OR
a) Discuss the objectives of International Monetary Fund.

b) Explain the functions of International Finance Corporation.

PTO.



04) Write notes (any two) : [8]
a) BRICS.
b) Euro Dollar Market.
c) Convertible and Non-convertible currency.

d) American Depository Receipts and Global Depository Receipts.

OO NN
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Total No. of Questions : 4]

P3559

[4764]-3017
M.Com. (Semester - 111)
ADVANCED BANKING AND FINANCE

International Finance

(2013 Pattern) (Credit System) (Special Paper - VI) (Group - G)
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Total No. of Questions : 4] SEAT No. -

P3560 [Total No. of Pages : 4
[4764]-3018
M.Com. (Semester - 111)
ADVANCED MARKETING (Group - H)
Marketing Research
(2013 Pattern) (Special Paper - VI)

Time : 3 Hours] [Max. Marks : 50
Instructions to the candidates:

1)  All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Define Marketing Research? Explain the factors involved in Marketing. Research.
[14]

OR

Explain the difference between. Industrial Marketing Research and consumer
Marketing Research.

02) What mean by Hypothesis? Enumerate the characteristics of a good Hypothesis.
[14]

OR

What do you know about MDSS? (Marketing decision support system). Explain
the characteristics of a good MDSS.

03) a) State the advantages of web based marketing research. [7]
b) Write a note on. Viewer ship surveys. [7]
OR

a) State the Ethics in Marketing Research.

b) Explain the sources of collecting Marketing information.

PTO.



04) Write short notes on (Any Two) :

a)
b)
c)
d)

Readership surveys.
Research Report.
Sales forecasting.

Multi-dimensional scaling.

OO0

[4764]-3018 2
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Total No. of Questions : 4]

P3560

[4764]-3018
M.Com. (Semester - 111)
ADVANCED MARKETING (Group - H)
Marketing Research

(2013 Pattern) (Special Paper - VI)
(T TUTR)
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Total No. of Questions : 4] SEAT No.

P3561 [Total No. of Pages : 4
[4764] - 4001
M.Com. (Semester - 1V)
CAPITAL MARKET AND FINANCIAL SERVICES
(2013 Pattern) (Credit System) (Compulsory)

Time : 3 Hours] [Max. Marks : 50

Instructions to the candidates:
1) All questions are compulsory.
2) Figures in the bracket indicate full marks.

Q1) What is Capital Market? State and describe various instruments in capital
market. [14]

OR
a) Describe the participants of capital market.

b) Write a detail note on options contract.

02) What is secondary market? Describe in detail the objectives and functions of
secondary market. [14]

OR
Write notes :
a) Bombay stock exchange

b) Derivatives Trading

03) What is a mutual fund? Describe in detail various types of mutual funds.[14]
OR

What is Securities and Exchange Board of India. (SEBI)? Analyse the functions
and powers of SEBI.

PTO.



04) Write short notes on (Any Two) :

a)
b)
c)
d)

Establishment of SEBI.
Foreign Direct Investment (FDI)
Portfolio Management

Functions of Capital Market

[4764] - 4001 2
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Total No. of Questions : 4]

P3561
[4764] - 4001
M.Com. (Semester - 1V)
CAPITAL MARKET AND FINANCIAL SERVICES
(2013 Pattern) (Credit System) (Compulsory)
(TS EUTR)
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Total No. of Questions : 4] SEAT No.

P3562 [Total No. of Pages : 4
[4764] - 4002
M.Com. (Part - I1) (Semester - 1V)
ECONOMICS
402 - A : Industrial Economic Environment
(2013 Pattern) (Credit System)

Time : 3 Hours] [Max. Marks : 50

Instructions to the candidates:
1) All questions are compulsory.
2)  Figures to the right indicate full marks.

Q1) State the meaning of Industrial Finance. Explain the external sources of
Industrial Finance. [14]

OR

Explain the performance and problems of Multi-National Corporations.

Q2) What s Liberalization? Explain the effects of Liberalization on Indian Industry.

[14]
OR
Discuss the growth and present position of IT-Industries in India.
03) a) Explain the environmental policy of India. [7]
b) Explain the causes of industrial disputes. [7]

OR
a) Explain the major issues related to Information Technology.

b) Discuss the India's export policy since 1991.

PTO.



04) Write shorts note (Any Two) :

a)
b)
c)
d)

Internal sources of Industrial Finance.

Special Economic Zones.
Effects of Privatization.

Labour Policy Reforms

[4764] - 4002 2
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Total No. of Questions : 4]

P3562

[4764] - 4002
M.Com. (Part - I1) (Semester - 1V)
ECONOMICS
402 - A : Industrial Economic Environment
(2013 Pattern) (Credit System)
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Total No. of Questions : 4]
P3491

SEAT No. :

[Total No. of Pages : 4
[4764] - 4003

M.Com. (Semester - 1V)
MATHEMATICS
Operations Research
(2013 Pattern) (Choice Based Credit System)

Time : 3 Hours] [Max. Marks : 50

Instructions to the candidates:
1)  All questions are compulsory.
2) Figures to the right indicate full marks.

3)  Use of statistical tables and calculator is allowed.
4) Symbols have their usual meanings.

Q1) Attempt any Two of the following : [14]

a) 1)  Solve the following LPP by graphical method [4]
Maximize Z = 20X + 17X,
Subject to
2X, +2X,<22
12X+ 10X, <120
X, X, 20
i)  Obtain the saddle point for the following Game [3]

Player B

3 7
Player A
-5 5

b) Solve the following game using dominance rule [7]

Player B
-1 -2 8
PlayerA| 7 5 -1
6 0 12

PTO.



c) Show that dual of following L.P.P. is itself.
Minimize Z=1200X, +1600X,
Subjected to constraints :
2X, +40X, =10
10X, + 10X, >4
X, X, 20

02) Attempt any two of the following :

[7]

[14]

a) 1)  Obtaininitial basic feasible solution using North-West corner method

for following transportation problem.

Markets—| D, D, D, D, Supply
Sources |
0, 19 30 50 10 7
0, 70 30 40 60 9
0, 40 8 70 20 18
Demand 5 8 7 14 34

Also find the corresponding transportation cost.

[4]

i)  Obtain initial basic feasible solution using Least Cost method for

following transportation problem.

3]

Markets— D, D, D, Supply
Sources 4
16 19 12
O, 14
22 19
0O, 13 16
0, 14 28 8 12
Demand 10 15 17 42

[4764] - 4003 2



b)

Solve the following LPP using simplex method. [7]
Maximize Z = 7X + 5X,

Subjected to constraints :

X, +2X,<6
4X, +3X <12
X,X,20
c) Test whether the solution given in the following transportation matrix is
optimal or not? Find alternate optimal solution if exists. Also find
corresponding transportation cost. [7]
* D, D, D, D,
1] 2 | 1| 4 |
0, |
o, B1 3] 2 | 1]
o, 41 2] 5 | 9 |
03) Attempt any two of the following : [14]
a) Draw network using following information. Also find critical path.  [7]
Activity 1-2 132524344546 |56 ]|6-7
Duration 5 9O | 14| 4 3 |10 12| 6 |10
b) Aready-made garment manufacturer has to process 7 items through two

stages of production namely cutting and sewing. The time for each of

the operation of these items is given in below (in hours). [7]
[tem 1 2 3 4 5 6 7
Cutting 5 7 3 4 6 7 112
Sewing 2 6 7 5 9 5 8

Find the order in which these are to processed so as to minimize the total
processing time. Also compute total time and idle time.

[4764] - 4003 3



c) 1)  Assign task to persons so as to minimize total man hours [4]

Task\Person | 1 II 1 v
A 8 26 17 11
B 13 28 4 26
C 38 19 18 15
D 19 26 24 10

i) Represent the following linear problem in the standard form : [3]

Maximize Z = 3X1 + 2X2

Subject to

2X,-3X, <3,

X, +2X, 25,

X, X, 20
04) Attempt any two of the following : [8]
a) What do you mean by unbalanced Transported problem? How will you
convert maximization T.P. to minimization T.P.? [4]
b) Explain the following with reference to L.P.P. [4]

i)  Entering Variable
i) Leaving Variable

c) Explain optimistic, pessimistic, most likely time estimates in PERT. [4]

[4764] - 4003 4



Total No. of Questions : 4] SEAT No. :

P3564 [Total No. of Pages : 2
[4764] - 4004

M.Com. - II (Semester - 1V)
ADVANCED ACCOUNTING & TAXATION
Recent Advances in Accounting Taxation & Auditing

(2013 Pattern) (Paper - VII) (Group - A)
[Time :03 Hours] [Max. Marks :50]

Instructions to the candidates:
1) All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) What is Environmental Awareness? Describe the various Governmental
Measures for Environmental Educations and Awareness. [14]

OR

What is Extensible Business Reporting Language (XBRL)? State its
components and Benefits.

02) What is Human Resources Accounting? States Importance's of Human
Resources Accounting. [14]

OR

What is meant by Carbon credit & trading of carbon credit? Explain the
Accounting and Taxation aspect of carbon credit.

03) a) What are the advance ages of strategic Management Accounting.  [7]
b) Difference between Traditional Accounting and Lean Accounting.  [7]

OR

a) Explain Taxation aspect of knowledge process outsourcing and Business
process Outsourcing.

b) Explain the provisions in cause 49 of listing agreement regarding the
board of directors of company.

PTO.



04) Write short notes (Any Two): [8]
a) Government system of Accounting.
b) Forensic Accounting.
c) Corporate Governance.
d) Advantages of strategic Management Accounting.

W R

[4764]-4004 2



Total No. of Questions : 4] SEAT No. :

P3565 [Total No. of Pages : 2
[4764] - 4005

M.Com. (Semester - 1V)
Group - E : COMMERCIAL LAWS AND PRACTICES

Recent Advances in Commercial Laws and Practices
(Special Paper - VII) (2013 Pattern)

[Time :3 Hours] [Max. Marks :50]

Instructions to the candidates:
1) All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Explain the composition of Competition Commission of India. Explain the
duties of commission prescribed under competition Act. [14]
OR
Explain the powers of commission prescribed under Competition Act.

02) State the provisions related Contributions and Financial Disclosure under

Limited Liability Partnership Act. [14]
OR

Define "Limited Liability Partnership" and its nature under Limited Liability

Partnership Act.

03) a) Explain the provisions of enforcement of security interest under
Securitization and Reconstruction of Financial Assets and Enforcement
of Security Interest Act. (7]
b) Explain the offences & penalties prescribed under Securitization and
Reconstruction of Financial Assets and Enforcement of Security Interest
Act". [7]
OR
a) State the need and object of the Recovery of Debts Due to Banks and
Financial Institutions Act.
b) State the provisions for making an appeal to an Appellate Tribunal having
jurisdiction in the matter prescribed under the Recovery of Debts Due to
Banks and Financial Institutions Act.

PTO.



04) Write short notes on (Any Two) [8]
a) Dissolution of limited liability partnership.
b) Consumer under Competition Act.
c) Central registry.

d) Establishment of tribunal under the Recovery of Debts Due to Banks
and Financial Institutions Act.

W R
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Total No. of Questions : 4] SEAT No. :

P3566 [Total No. of Pages : 1
[4764] - 4006

M.Com. (Part - II) (Semester - 1V)
ADVANCED COST ACCOUNTING & COST SYSTEM
Recent Advances in Cost Auditing and Cost System

(Paper VII) (2013 Pattern) (CBCS) (Regular)
[Time :3 Hours] [Max. Marks :50]

Instructions to the candidates:
1) All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Explain in brief, the nature and objectives of Cost Accounting Standards
(CAS) - 8to 13. [14]

OR
Define productivity Audit. State the problems in conducting Productivity Audit.

02) Describe objectives and procedure of VAT audit. [14]
OR
Explain the features and benefits of Enterprise resource planning.

03) a) What do you understand by the term six sigma? Explain the scope and
importance of six sigma? [7]
b) Nature of CAS 1 to CAS -4. [7]
OR
a) What is the scope of Excise Audit.
b) Write a note on Cost Accounting standard CAS - 18.

04) Write notes (Any Two). [8]
a) Forensic Accounting and Audit. (Journal - Sept. 2014)
b) Cost Accounting standards and its economic implications. (July - 2014)
c) E - Costing.

W R



SEAT No. :
[Total No. of Pages : 4

Total No. of Questions :4]

P3567
[4764] - 4007
M.Com. (Semester - 1V)
CO - OPERATION AND RURAL DEVELOPMENT
Recent Advances in Co - Operation and Rural Development

(2013 Pattern)
[Max. Marks :50

Time : 3 Hours]

Instructions to the candidates:
1) All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Why were the co- operative principles reviewed by International Co - operative
[14]

Alliance?
OR

Explain the role of co - operative leadership in global era.

02) Discuss the challenges faced by self help groups today. [14]

OR

What has been the impact of globalisation on co- operative institutions?

03) Explain the role of self help groups in the development of rural women. [14]

OR

What are the causes of farmer's suicides?

PTO.



04) Write short notes (Any Two).

a)
b)
c)
d)

[4764] - 4007

Social responsibility of co - operatives.
Six sigma technique.

Rural artisans and self help groups.

Dr. Narendra Jadhav Commitee's recommendations.

R R

8]



Total No. of Questions : 4]

P3567 [4764] - 4007
M.Com. (Semester - 1V)

CO - OPERATION AND RURAL DEVELOPMENT
Recent Advances in Co - Operation and Rural Development
(2013 Pattern)

(vt wUTaR)
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Total No. of Questions :4] SEAT No. :

P3568 [Total No. of Pages : 4
[4764] - 4008

M.Com. (Semester - 1V)
BUSINESS PRACTICES AND ENVIRONMENT

411 : Recent Advances in Business Practices And Environment
(Special Paper - VII)
(2013 Pattern) (Group - C)
Time : 3 Hours] [Max. Marks :50
Instructions to the candidates:

1) All questions are compulsory.

2)  All questions carry equal marks.

Q1) Critically examine the Industrial Investment & infrastructure development policy

of Government of Maharashtra. [14]
OR

a) Explain textile policy of Government of Maharashtra. [7]

b) State the importance of Agro - Tourism. [7]

02) Explain recent scheme of development of micro small and medium enterprises.

[14]
OR
a)  Write note on urban Haat. [7]
b)  Write note on Labour market information cell. [7]
03) a) Explain nature importance & scope of Environmental Audit. [7]
b)  Write detail note on corporate Goverance. [7]
OR
a)  Write detail note on 'Corporate Disclouser'. [7]
b) State the importance of Transperency. [7]

PTO.



04) Write short notes (Any Two).

a)
b)
c)
d)

[4764] - 4008

Service training Institute.

Rajeev Gandhi udyami mitra scheme.

Retail policy.

Cluster Approach.

R R

8]



Total No. of Questions : 4]

P3568 [4764] - 4008
M.Com. (Semester - 1V)
BUSINESS PRACTICES AND ENVIRONMENT

411:Recent Advances in Business Practices And Environment
(Special Paper - VII)

(2013 Pattern) (Group - C)
(vt wUTav)
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Total No. of Questions :4] SEAT No. :

P3569 [Total No. of Pages : 4
[4764] - 4009

M.Com. (Part - II) (Semester - 1V)
BUSINESS ADMINISTRATION
Recent Advances in Business Administration
(Special Paper - VII) (Group - F)
(2013 Pattern) (Credit System) (Regular)
Time : 3 Hours] [Max. Marks :50
Instructions to the candidates:

1) All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Whatis Change Management? Explain the significance of Change Management.

[14]
OR
Explain the tools of Enterprise Resource Planning (ERP).
Q2) Explain the role and importance of merger in Business. [14]
OR
Explain the key steps in Innovation Management.
03) a) Explain the approaches towards change management. [7]
b) Write a note on Computers and ERP. [7]

OR
a) Explain the issues in Cross - Cultural Management.

b) Explain the techniques of turnaround management.

PTO.



04) Write short notes on (Any Two). [8]
a) Strategic approaches towards changing business environment.
b) Total Quality Management.
c) Global Management System.

d) Advantages of Innovation.

R R
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Total No. of Questions : 4]

P3569 [4764] - 4009
M.Com. (Part - II) (Semester - 1V)
BUSINESS ADMINISTRATION
Recent Advances in Business Administration
(Special Paper - VII) (Group - F)
(2013 Pattern) (Credit System) (Regular)
(vrdt wUTaR)
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Total No. of Questions : 4] SEAT No. -

P3883 [Total No. of Pages : 4
[4764]-4010

M.Com. (Part - Il) (Semester - 1V)
ADVANCED BANKING AND FINANCE (Group - G)
Recent Advances in Banking and Finance

(2013 Pattern) (Credit System)
Time : 3Hours] [Max. Marks : 50
Instructions to the candidates:
1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q1) What is financial inclusion? Explain in detail the Reserve Bank of India's
guidelines on financial inclusion. [14]

OR

"A good customer service, customers' financial education and good customer
relationship management are more important than just announcing schemes of
financial inclusion." Do you agree? Explain your answer.

Q2) What is capital adequacy? What are the current capital adequacy requirements
for banks? Explain the link between non performing assets and capital adequacy.
[14]

OR

Explain in detail the various facilities offered by banks to transfer funds from
one place to another using telecommunication.

Q3) a) Explainthe organization and functions of the stock exchanges in India.[ 7]
OR

What is the difference between call, notice and term money market?
Explain in detail the call money market.

P.T.O.



b) Explainin detail requirements for Repo and Reverse Repo operations.[7]

OR
What is book building and reverse book building? Explain both the
processes.
Q4) Write short notes on (Any two) : [8]

a) Need for and benefits of a depository system.
b) Trading in options and futures market.

c) Collateralized borrowing and lending obligation.
d) Over the counter exchange of India.

vV Vv ¥V
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Total No. of Questions : 4]

P3883

[4764]-4010
M.Com. (Part - Il) (Semester - 1V)

ADVANCED BANKING AND FINANCE (Group - G)

Recent Advances in Banking and Finance
(2013 Pattern) (Credit System)

(FET EUTR)
[ wegor 7o : 50
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) YRGS I TR Feed o i T8 . [7]
fehan
HTUT, AT SAUT FEa ¢ U1 AR ATHED 1T Wik 3T ? AETOT o7 T
TR G T8 .
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) W iegd W TR Savaehdl St T8 .
femen

graaieoft enfor SfdyEaeioui T % ? Sl Sfsha T .

gt forgt. (hivTegt 3F)

a1) e e WSt Snfur ey

q) foereu sufor a=E IR =R

&) Yok Thel QUI-Hul Feei=l qiiEea

) URAHE AR ¢ HiEwed fafma am
vV Vv ¥V
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Total No. of Questions :4] SEAT No. :

P3570 [Total No. of Pages : 4
[4764] - 4011

M.Com. (Part - II) (Semester - 1V)
ADVANCED MARKETING
Recent Advances in Marketing
(2013 Pattern) - (Credit System)
(Special Paper - VII) - (Group - H)
Time : 3 Hours] [Max. Marks :50
Instructions to the candidates:

1) All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Explain the recent examples of corporate sustainability endavour. [14]
OR

Explain the elements of Marketing Strategy.

02) Explain the types of social media. [14]
OR

Explain the policies of State of Maharashtra in allowing Foreign Direct
Investment in Multi - brand retail.

03) a) Explain the concept of sustainable development. [7]
b)  Write a note on Global v/s local marketing strategies. [7]
OR

a)  Write a note on Social Media Audit.

b) Explain the concept of Retailing.

PTO.



04) Write short notes on : (Any Two):

a)
b)
c)
d)

[4764] - 4011

Ethical issues in sustainable marketing.

Advertising and Media Planning.
Credit Card Transaction.

Single brand retail in India.

R R

8]



Total No. of Questions : 4]

P3570 [4764] - 4011
M.Com. (Part - II) (Semester - 1V)
ADVANCED MARKETING
Recent Advances in Marketing
(2013 Pattern) - (Credit System)
(Special Paper - VII) - (Group - H)
(vrdt wUTaR)
de. 3 ara | [ zg5or 7707, 50

gaar - 1) &d T97 \ISA0 A9 ST
2) STAIBSIT 3k T FIAATA.
3) @gYUIAISt gep SHST FIAalAHT UETEl.

Ty 1) vIvad GFIETEl STEUAT hidNe QAT SATeTeheiet ISTEH0T Tee T, [14]

Teman
oo Sgegte gew wE w0
g7 2) | HIETHTE T T ol [14]
feman
AEE! 508 ReEeTHE URehTd 92 TAAU[EhIeT HT-adl quaTareads HgRTY SITEAT! &Rt
Y .
go7 3) 1) vvEd feehTETE Hehour T WY . [7]
q)  WTTiaes forseg onfaes oo sysgtet arer du forgr. [7]
Teman

) WIS HATETH A@TOIeToT e’ i forgr.

) ‘fefeln’ & wehou TaE w1



g7 4) Hun Tergr. (BTl 39). 8]
1) vyaa fuuETde Afew st
) e onfn ms free.
®) Ihie e STHAFIM.
g) firer e fee == sfean.

W R
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